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The following table shows the percentage (%) distribution of viewers of JIO TV channel in five
different towns (A, B, C, D and E) alongwith the number of viewers who subscribed the channel
among them in the year 2023. Number of viewers in the town E is 1200. Based on the data in the

table, answer the questions that follow.

Town-wise Details of Channel Viewers
Town|Percentage Distribution of Channel Viewers [Number of Viewers who subscribed for the Channel
LA 2% 440
B 13% 500
C 28%% 280
D |23% 700
E 209%% 360

Note: For each town, number of channel viewers 1s the sum of number of viewers who subscribed
tor the channel and the number of viewers who did not subscribe for the channel.

Sub questions

Question Number : 1 Question Id : 34212312220 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

If the number of male unsubscribed viewers in Town-D is

200
3

% more than that of female

unsubscribed viewers, then what is the ratio of number of male unsubscribed viewers in Town-D
to the number of unsubscribed viewers in Town-A and Town-C together?

123333
2.25:54
3. 759
4.2:3

Options :

1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 34212312221 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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If P is the total number of unsubscribed viewers in Town-B and Town-C together, and Q is the
number of subscribed viewers in Town-E, then Q is % less than P.

1.6

h

(]

. 80

3.60

4.70

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212312222 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

325
i

If out of the number of viewers from Town-C, == are female and E of the number of female

viewers are unsubscribed viewers. then the number of unsubscribed male viewers from Town-C
IS.

1. 340

-2

. 360

3. 380

4. 420

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212312223 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is the difference between the number of unsubscribed viewers and subscribed viewers,
taking all the towns together?

1.320

(]

. 240
3. 340

4. 300

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212312224 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If P is the total number of unsubscribed viewers in Town- B and Town-C together. and Q is the
number of unsubscribed viewers in town-E, then Q is % of P.

1. 60

]

.70

3. 80

4.7

A

Options :
1.1
2.2
3.3
4.4

Question Id : 34212312219 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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g aifereT | @8 fafi= 7RI (A, B, ¢, D3R E) H 2023 H 57211 (710) 71 91 971d & G2l &
UTIRId (%) TaaR0T 3R 39 d9d & UTgd aRid| & Y21 G2Ts s o | TR E H a=id! &f J
1200 g | dIfeid § Wed STel & YR WR, 31 U 7TV YUYl & IR SIIU:

T X! P (a0
TR GRd! @1 Ud=d (G0l [o-d & T8® GRd] &I S|
A [12% 130
B 5% 500
C |28% 880
D 5% 700
E 0% 360

feuufl: Ud® TR & forg, Icl o=l B e 39 I & D GRD! DI WA 3R I
GRId] &I GBI 1N g Sl 39 d-d & g ol g |

Sub questions

Question Number : 1 Question Id : 34212312220 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If¢ TR D H T8 TY (D] BT I, S AED el €. 1 Al a=iep! bl IRATH 22,

4 ¢, S U8 -Tel 6. Al R D H UEH A gHaTd U G| & W &I TR A 3R TR
¢ H e ¢! & e 9 giHdTd GXd! Bl U1 U 3urd fhd-1 g2

L2553

2.25:54

3. 759

4.2:3
Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212312221 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gf¢ IR B 3R 'R ¢ DI {did 981 & Ud cRidh] &l o Y= P ¢ IR TR EH U8H
CUHI DI YBIQe, dPUQ % PHGI

1.6

L1

I

. 80
3.60

4.70
Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212312222 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Erﬁ.*w-cﬁ?a?eﬁaﬂf—i@rﬁﬁﬁﬁ%n%?mi%ﬁ?ﬂ%ﬁ@hﬁﬁmﬁﬁ%é‘%ﬁ
qIed Aol o, dl TR - C Y UIgD 4 9 GRD| D TSA] ol '

1. 340

B

. 360

3. 380

4. 420

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212312223 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gt TRl B THTER TIgd 1 94 aRid! 3R Iied aUD| & Wl & did BT 3R fhd-r g2

1.320

2

. 240
3. 340

4. 300

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212312224 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g AR - B 3R TR - ¢ &l @ d#ﬁﬂ[ﬁd}qﬂlﬂcﬂﬁ qﬂm“fﬁg_m TP g 3R AN -
E U UEH A §-dTd adh] HI WA Q g, A P HIQ %G|

1. 60

I

.79
3. 80

4. 75
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 342123481
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 34212312225 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The impaired memory for events occuring before the onset of amnesia is called as:-

1. Phonological loop
2. Retrograde amnesia
3. Anterograde amnesia

4. Visuospatial sketchpad

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 34212312225 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Wiy (THARADN & RY g4 U Yd "fcd g1 & fofu &t gdl ¥fd Hedidl 6 -
1. WS

2. Uy Wiy (TR

3. TGN Wiaag (AR
4. faSleaRme Wats

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212312226 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What of the following aspects does not pertain to delibrate practice of learners?

1. The task is too easy or too hard

t2

. The learner is given informative feed back about his/her performance
3. The learner has adequate chances to repeat the task

4. The learner has the opportunity to correct his/her errors

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 8/179
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Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212312226 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafaRad @ ¥ SH-41 ugq el & giaaria snarg # 981 o g2
1. Ig B yaTd S 3Hydl 9gd Hid g |
2. TRt i 3P e & IR H adS Bisdd [Gg1 T g
3. Tremalf & U 1 Bl QIR & Wit SR gl
4. TR7emdt & urg ool Ffeal &l g8 HIH & HaE T

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212312227 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT
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LISTI LISTII
Online Softwares/Tools Application
A | Trello 1. | Managing and analvzing social media campaigns
; Managing and recording, fun built-in camera recording add effects and
B. |Hootsuite II. ;
share in the groups
GitHub : ] .
C. i II1. | Managing group projects and tasks
D. |Flipgrid IV. | Managing and writing coding assignments

Choose the correct answer from the options given below:

1. A-IV, B-111, C-II, D-1
2. A-III, B-1V, C-1II, D-1
3. Al B-1, C-IV, D-1I

4. A-1, B-11, C-III, D-1IV
Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212312227 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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AT 1S 1Y &I 11 DT e Hifoy

I 1

(THATET iy / 231%
A |femt L | i i figH! & vdyd ud faRey &A1
R | e 51 SR RSl @1 e d RS aem ok 5
3! Bl Slle®m? 34 g H Il &l
fireed Taraed 11 |99 ufareHist| ud &l ol gag= @l
D. |Teufirs V. | BIfET FoaeEl &1 ey ud oa-
4T faU U fad el § 9 981 3R &l 994 Diflu:

1. A-IV, B-111, C-1I, D-1

I

3. A-III, B-1, C-1V, D-I1

4. A-I, B-II, C-IIL, D-1IV

Options :
1.1
2.2
3.3
4.4

.A-IIL B-1V, C-11, D-1

Question Number : 9 Question Id : 34212312228 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Which of the following channels of Swayam Prabha are under IGNOU, New Delhi?

A. Channel 4
B. Channel 7
C. Channel 15
D. Channel 12
E. Channel 20

Choose the correct answer from the options given below:

1. A and E only

b2

.C and D only
3.B. C and E only

4. A.Band D only

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212312228 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafdfRad 9 9 syl & 1Y d4d =3 [doedl fud 29 & sidiid g2
A. 00 4
B. d9d 7
C. 994 15
D. 994 12
E. d4d 20

1 feu U fas ettt # 9 F1 IR &1 99 DI
1. hdcd A 3R E
2.Hdd C 3R D
3.Hdd B, C 3RE
4. HId A, B 3R D

Options :
1.1

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 12/179
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2.2
3.3
4.4

Question Number : 10 Question Id : 34212312229 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following can be used as LMS to create and manage course content?

A. Moodle
B. Zoom

C. Edmodo
D. Canvas
E. Strawpoll

Choose the correct answer from the options given below:

1. B, D and E only

B

A, Cand D only

LFE]

.B, C and E only

4. A.Band D only

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 34212312229 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 13/179



8/31/24, 10:35 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

fraferad @ ¥ fo-a1 urea=gl &f favgasd & Yo 3R Ut & foll Ud. T, 0q. & = 1
T fhdl &I Hehal g2

A Had
B. 9H
C. USHIS]
D. Hd1g
E. &UId

A fau U fasedl # 9 ¥8T 3R &1 994 Dol
1. Hdd B, D 3R E

2. HAA A, C 3R D
3. Hdd B, C 3ARE
4. %dd A, B 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212312230 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to UGC Regulations 2018 on Plagiarism, which of the following percentage of
similarity in the thesis would result in the cancellation of a student's registration in the
programme he/she is registered in?

1. 42%

4.61%
Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212312230 Question Type : MCQ Option Shuffling : No
https://g28.digialm.com/CAE/viewHtmIPDFAction.action 14/179
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Correct Marks : 2 Wrong Marks : 0

Yifed 9’ & Ydiy d fayfqeerd sFeM smanT (goiid) fafFad 2018 & YR 2y gdy o
fgfeRad ® U fod ufd=rd gHHEd Urs S W fdbdl B &1 Uoiihrul 39 UiUH 9 IE ¢
ST, S U 98 Usiied o2

1. 42%

-2
A
T
=}
a\

4.61%
Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212312231 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following types of sampling is likely to have least bias?

1. Snowball sampling

f-2

. Simple random sampling
3. Convenience sampling

4. Purposive sampling

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212312231 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFafafad 7 9 &9 YR & Ufdegd # AdH gaiig g ST JH1aHT gidl ©:
- hgd Ufd=a (@idrd Uid=a)

YR gTefyd Ufd=d

- gfayrsH s ufdagd

4. QU ufdaa-

Options :
1.1
2.2
3.3
4.4

—

g

L8]

Question Number : 13 Question Id : 34212312232 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct statements regarding survey research.

A. A closed ended question contains a set of answers that a respondent chooses

B. Self-Deception Positivity is a from of social desirability bias

C. Impression Management is a form of social desirability bias

D. In key informant sampling, a researcher uses a member of the population of interest to
actively recruit others

Choose the correct answer from the options given below:

l.A. Band C only
2.B. C and D only
3. A.Band D only

4. A. Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212312232 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YA&fuT YU & Gdy T Tl YAl Hl UgdH HIfe:

A. 3 TR a1 Uy | SRl &1 U< gidl g o SR a-aral g1 g |

B. 3TH-dd4 YHRIHAD I, YT dig-1adl Iaiig 1 FJ 3l

C. YHTd UseH, Yol qidg-1gdl Jaiig &1 &4 ¢

D. YA Y Yfcragd 1 Uh Ul Eid B S8 & U Yo ST ST Gl
DI Yl B & [T HIAT 8|

- fqu ¢ fgdett H# 4 FoT IR &l 99 DI
1. Had A, B AR C
2. $HIAB. C 3R D
3. $had A, B3R D
4. Had A, C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212312233 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following statistical measures in increasing order

A 37ih percentile
B. first quartile
C. median

D. third decile

Choose the correct answer from the options given below:
1 B2, B
2.B.D.A.C
3B, C.AD

4.C,B, D, A

Options :
1.1
2.2

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 17/179
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3.3
4.4

Question Number : 14 Question Id : 34212312233 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafeRad OiRers 1 AUl &1 d6d $H H ogaid Dif|

A. 37 91 IdHS
B. Ugdl Igdd
C. HIfED]

D. AR GRHS

A fGu U A edl § 9 T 3R &1 994 DifeiL:

1.A,B,C,D

2.B,D,A,C
3.B,C;A, D

4.C, B, D, A

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212312234 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 18/179
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Match List I with List IT
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List I List IT
(n=number of trials p=probability of success)|(Variance of Binomial Distribution)
A ln=7.p=03 L |144
B |n=3p=04 I |2.00
C. |[n=8p=03 Im. 11.20
D |n=6p=06 V. | 147

Choose the correct answer from the options given below:

1. A-1, B-II, C-IIL, D-IV

2. A-II B-III, C-IV, D-1

3. AL B-1V, C-I, D-1I

4. A-IV, B-1I1, C-1I1, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212312234 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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AT 1S 1Y &I 11 DT e Hifoy

.. . ik

o= T 3 Ry | (50 [0 BT TR

A |n=7p=03 I 144
B. |n=5p=04 II. 12.00
C. In=8.p=053 I | 1.20
D. |n=6.p=05 IV, [ 1.47

il [ -

A Teu TU [dd el | 9 gt 3R &1 994 HITU:

1. A-I, B-II, C-III, D-IV
2. A-11, B-1II, C-1V, D-1
3. A-IIT, B-IV, C-I, D-II

4. A-IV, B-III. C-II, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212312235 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the post-information age, information is highly.

|. Homogeneous

t2

. Communitarian
3. Personalised

4. Impersonal

Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212312235 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TR - G g 1 YA A
R EIRIEN

HEEE §
4. 3dUfad® o

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 17 Question Id : 34212312236 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In an information society, even nuclear families have the characteristic of technological

1. Separation

t-2

. Mediation
3. Constriction

4. Passivity

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212312236 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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g%%am&ninﬁﬂwﬁmwﬁa@raﬁiﬁﬁaﬁfﬁaﬂmm GCAREELG!
|

1. G
2. AR

3. P
4. HHUTA

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212312237 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A hot medium has the features of:

A. Pre-supposition of interaction

B. Providing large amounts of information
C. Little effort needed for interpretation
D. Less scope for participation

E. Immediate feedback

Choose the correct answer from the options given below:

1. A B, Conly

[

. C, D, Eonly
3.A,C,Donly

4.B,C,Donly

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212312237 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FrafaRad mrem o1 Fefafad ot gid 8

A. TRTR® T 1 qaigaH

B. 931 A1 H AT 3UCT DRG]

C. ARAT (AT B & [ BT T 64 DI ahdl gldl ©
D. YTl & folt o1 egw

E. dichIidd Uidgfe

i fu U fad el § 9 @81 IR &l 994 Diflu;
. HAAd A, B, C

2. Bdd C.D.E
3. HAAd A, C.D
4. BAd B. C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212312238 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct chronological sequence of the following communication devices:

A. Blu-ray Disc

B. Universal media Disc
C. Digital Compact Disc
D.Hi8

E. Digital Audio Tape

Choose the correct answer from the options given below:
L.ED C B A
2D:CRAE
3B AED

4.B,AE D, C

Options :
1.1

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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2.2
3.3
4.4

Question Number : 19 Question Id : 34212312238 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YaR U 9 FafaRad Ul & dicdd & Yol hd &l g S|

A X 3w
B. gi-qyd Hifsar fewn

+id fGu T fasedl § 9 @@t 39 &1 994 Hifeu:
I.E.D,C.B. A
2.D,C,B,A,E
3.C,B.AE,D
4.B,AE,D,C
Options :
1.1
2.2

3.3
4.4

Question Number : 20 Question Id : 34212312239 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Medium) (Characteristic)
A |Radio I. | Asvnchronous
B. |Primt II. |High intensity of information
C. |Hot medium III. |Interactivity
D |Internet IV | Only Acoustic medium

Choose the correct answer from the options given below:

1. A-I, B-II, C-1II, D-IV
2. A-1I, B-III, C-1V, D-1
3. AL B-TV, C-1. D-IT

4. A-IV, B-1, C-II, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 34212312239 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I I
= | &
A | L |sgsoifts
B. |qzU II. | =T &l 3= Mol
C. | emhHE® g | 1L | IRERS haradd
D. |Fee V. |dae @f-ie arem

I feu 71U fash el § 9 T8t IR $I1 994 HIfIT:
I. A-I, B-II, C-IIL, D-IV
2. A-IL B-IIL, C-IV, D-I
3. AL B-IV, C-I, D-II

4. A-1V, B-1, C-1I, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212312240 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If a fraction is multiplied by itself and then divided by the reciprocal of the same fraction, the
result obtained is 492 Find the fraction.

n
l.3—

Lad

ta

W | —

i | b

4.41
3
Options :
1.1

2.2

3.3

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 26/179



8/31/24, 10:35 PM g28.digialm.com/CAE/viewHtmIPDFAction.action
4.4

Question Number : 21 Question Id : 34212312240 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gfe fpd fird o1 34! 3 Y 707 {61 S 3R 34 916 390! 341 & Hohd Y fauord
ﬁmwa“rwwﬁwmm%@maamﬂmﬁml

A
1.3=

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212312241 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the number that can be inserted at the place of questions mark (?) in the series given below.
4, 10, 20, 34,52, 74,7

1. 98

I

102
3.97

4. 100

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212312241 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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a1 1S gaar § Uy g & RIF W SR 1 Si-dlel Y J1d i |

4, 10, 20, 34,52, 74,7

1. 98

2

102

3.97

4. 100
Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212312242 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-TT

LISTI LISTII
(Statement) (Result)
A | Average of the squares of first 10 natural numbers| 1. |13
B. | Average of first 5 multiplies of 5 II. |45
C. | Average of first 25 natural numbers III. | 38.5
D. | Average of cubes of first 3 natural numbers IV. |15

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV
2. A-1l, B-1II, C-1V, D-1
3. A-1IV, B-1, C-II, D-III

4. A-III, B-IV, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212312242 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I I

o o,

YA 10 Widids Seeff dar o1 afiad| 1|13
5 @ TYH 5 0TS Bl 34d I |45
UYH 25 Wi RT3 BT Sed I |385
Ty 5 Uihfdd deafl & u @1 gd | IV |15

AT U U fadhedl § U It 3R &1 994 DIoIU:

1. A-I, B-II, C-III, D-IV

olo|w|x

2. A-II, B-IIL, C-IV, D-1
3. A-IV, B-1, C-II, D-III

4. A-III, B-1V, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212312243 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a certain code language:

*“Kashmiri Cuisines are good” is coded as: * KI CI FI GI”

*“You like Kashmiri Cuisines™ is coded as: “AI LI KI CI”

“Indians like Punjabi Cuisines™ is coded as: "MI LI BI CI"

“Punjabi Cuisines are best™ is coded as: "BI CI FI TI"

How the words *you’, ‘Indians’ and' best' are coded in this language.

1. LI, KI and Al

f2

.KI, MI and CI

3.AI MIand TI

4. AL, MI and CI

Options :
1.1
2.2
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3.3
4.4

Question Number : 24 Question Id : 34212312243 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fhd e YW T:-

“Kashmiri cuisines are good” @I KI CIFI GI b ¥ H CTEFATRIREIR]) S
“you like Kashmiri Cuisines” @I AI LIKI CI® U H dddg ERIEIGIE
“Indians like Punjabi Cuisines” MILI BI CIh U I podg bl EIGI
“Punjabi Cuisines are best™ BI CI FI TI &Y Pldeg ERIEIGIE

o4 HTyT H ‘you', ‘Indians’ AR “best” Dl Y UHR Pldg ICRRIE| %i’
A1d U TIQ fddpedl H ¥ #5T SR B 79 DIfSIE:

1. LL KI 3R Al

2. KL MI 3R cI
3. AL MI 3R TI

4. AL MI 3R CI

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212312244 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

There are some Cows and Ducks in a park. The total number of heads of Cows and Ducks
together is 60. However, the total number legs of the cows and ducks together is 180. Find the

number of cows and ducks in the park, respectively.

1. 30, 30

2

32,28

3.28 32

4. 24, 36
Options :
1.1
2.2
3.3
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4.4

Question Number : 25 Question Id : 34212312244 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uh Uid H $& Y 3R S §. 71 3R §wal & (R &1 ol feidh: W& 60 g1 qyid,
T 3R dodl D1 Dol THThR T 1 AT 180 1 UTdh H 71T 3R Seival &bl TeT hus:
J1d DIfTU|

L.

[

4.

30,

Options :

1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212312245 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

30

g28.digialm.com/CAE/viewHtmIPDFAction.action

*This piece of Chalk has mass, therefore, the atoms that compose this piece of chalk have mass.”
Which of the following options is true of the above argument?

1. Fallacy of composition 1s committed here

2. Slippery slope is nvolved here

3. Hasty Generalization is committed here

4. It 1s a non-fallacious argument

Options :

1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212312245 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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i (AN & TH hs U ST g, ST dlh & 39 Sho BT AT 6 dle] TRHTILS]
o ot goqa gidl & Suddd gfdd & Y&y ¥ Fafafad @ 9 s fde e g g2

1. I8l Uefd Siv fhar TR 5|
2. gel Thyed gad ¢a Hdfigd g1
3. gg G=Rd IrAISHI 6l T g |

4. 98 U TR - Ay gfad ¢

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212312246 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true?

A. A valid argument may have false premises and a true conclusion
B. An invalid argument may have false premises and a true conclusion
C. An invalid argument may have true premises and a false conclusion
D. A valid argument may have true premises and a false conclusion

Choose the correct answer from the options given below:

1.AB,C.D

t-2

. B and C only
3. Aand D only

4. A. B and C only
Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212312246 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fAafRad 7 ¥ ®H-0 &Y Td o2

A. T 94 g § i 3R 3R U U by gl Thal g
B. U 3{d% gfqd O e R r 3R Uh 9 5y gl Ghdi gl
C. U 33 gfad T I ATUTRGR 37R Ueh {71247 F5h gl Yhdl ¢ |
D. Ut 94 Gfdd ¥ Y YR 3R U {7721 F5H gl Ihdl gl

A fGu U A edl § O 8T 3R &1 904 DifoiL:

1.A,B,C,D

) FHIAB AR C
3. HddA AR D
4. Hadd A, B3R C

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212312247 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in order of decreasing denotation.

A. Physics

B. Natural Sciences
C. Sciences

D. Nuclear Physics

Choose the correct answer from the options given below:
1.C.B,A D
2.B.C,A.D
3.D.AB.C

4.B.C.D A
Options :
1.1
2.2
3.3
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4.4

Question Number : 28 Question Id : 34212312247 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAeIRad & ged 9dd & HH H FaRRUd DIfI:
A, HIfd® IR
B. UIdidd fa3
c. fagm
D. AIHS I HITdH AR
< fSu U fadeul § 4 @87 IR BT 90 DIOIT:

1. C.BA D

[

B.C.AD

3:PD.AB;C

4.B.C.D. A

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212312248 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
{Type of informal Fallacy) (Reason)
A |False cause 1. |Relevance
B. | Appeal to Emotion II. | Ambiguity
C. | Complex Question III. | Defective Induction
D. |Fallacy of Composition | IV, |Presumption

Choose the correct answer from the options given below:
1. A-IV. B-II, C-1I1, D-I
2. A-IIL B-1, C-IV, D-1I
3. A-IIL, B-IV, C-1, D-II

4. A-II, B-1, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212312248 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

(&Hﬁﬂﬁﬁ:ﬁ;ﬁaﬂm (ﬂ%
A |fa eRo 1 |l
B. | 914G 3FI8 . | 3Rgpdl
c. |sfeamy 1L | GIeqUi 3
D. |Wefd g IV. | qaigaH

I feu 71U fash el § 9 T8t IR $I1 994 HIfIT:
1. A-IV, B-IL, C-III, D-I
2. AL B-1, C-IV, D-II
3. AL B-IV, C-I, D-II

4. A-I1, B-1, C-1IV, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 34212312249 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Nyaya logic which of the following statements is fallacious because the middle
term instead of proving the existence of the major term in the minor term., it proves its non-
existence therein.

1. Sound is eternal because it is produced

]

. The hill has fire because it 15 knowable
3. Sound 1s eternal because it 1s audible

4. All things are non-eternal because thev are knowable

Options :
1.1
2.2
3.3
4.4
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Question Number : 30 Question Id : 34212312249 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A A & YR FEfaRad § ¥ fdd Sy o dhaly ¢ difd T Ug, 1o Ue § gre ug &
3 Dl lfdd DI & Iol1d, T8 IUH 34D AT ci-dl I Tlied Hdl g

L. €17 21y ¢ 1 g Idiiad &l Sl B
2. UgTSI H 3N § i 98 34 B

3. & A1 g D T8 4 ¢

4. 9t - FEIE TR-=NYd € Fifh d I ¢

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212312250 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A keylogger. short for keystroke logger, is a type of that monitors and records what
you type on your computer or mobile phone.

1. Worm

2

. Spyware
3. Virus

4. Trojan Horse

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212312250 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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@I - ¥l AR & {elU Tigd Usq, Dl - AR Th UDHR DI © Sl 3MUd gRT 30
$HUIeR YT HIEd Bl TR 2130 &I ol Te! il &1 TR Hd1 ¢ 9 39 Rdbre gl

L. drH

2. TR
3. digxd
4. TIoH gIY

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212312251 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following pair of acronym and its expansion is incorrectly matched?

1. XML- Extensible Markup Language

t-2

. WWW- World Wide Web
3. VLSI- Very Large Scale Integration

4. SMS- Short Message Software

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212312251 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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uRquif 9 34 fa¥dR &1 % # @ D181 g gAferd 181 €2
. U A U - TeRie st AT 31 cfiast

3% S S - dcs dI2s dd

1 T T 37 - 48 arSl Whel SCUTH

4. 7Y TH UY - 1C A HIEdTR

Options :
1.1
2.2
3.3
4.4

—

g

L8]

Question Number : 33 Question Id : 34212312252 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the sequence of ICT terms A-D that correctly fills the blanks in the following paragraph:
is permanent memory that is used to store instructions that are needed to start the

computer. is fast temporary memory that is used to store data and applications that are

currently in use. carries out processing and turns data into information. The

1s used to plug all other components into the computer system.

A. Motherboard
B. RAM
C.CPU
D. ROM

Choose the correct answer from the options given below:
1D B A C
2.AD,C.B
3.C,A.B.D

4.D,B,C,A

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 34212312252 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

313 4l &1 Uel A-D & 39 HH & UgdH ST Sl (9 T2 & Rad R 1 Ugl YR 4R
_ =yEigfa gl g o uanT 34 SHel & W%WWW%W
DU Bl HRY T & [0 HEAWHATgdigl 3T Wi il g ford
3 STeT d TN BT W%mam%ﬁﬂﬁaﬁﬂﬁﬁ CRIEIREEEE
JhH0 63l ¢ AR S1el DI Y1 § dad adl B &1 UG 30 gt
HCHI Bl HWR YoITell § Siis & foe fbar S g

A. HERdlS

B. 3R TUH
c. g g

D. 3R 3 TH
A fqu U fameul § 9 98T 3R 1 994 DI

1.D.B.A,C

2.A.D,C,B
3.C,A,B,D

4.D.B.C.A
Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212312253 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following software titles are examples of operating system?

A. MS-Word

B. Linux

C. MS-PowerPoint
D. Adobe Photoshop
E. Android

Choose the correct answer from the options given below:

I.A. Cand D only
2.A.B.CandD only
3.B and E only

4. B, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212312253 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

79 U ¥ 1Y 9ieda? i UdIa- YUl & 3alg 0l g2

A UATYdS
B. felHag

C. UH Y UTdR W@ige
D. US4 Hhiel2y

E. U39S
Hid fqu U fddetl #§ 9 Fg1 IR DI 949 iU
1.hdd A, C 3R D
2. Hdd A, B, C 3R D
3. Hdd B AR E
4. $dd B, D3R E

Options :
1.1
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2.2
3.3
4.4

Question Number : 35 Question Id : 34212312254 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI
LISTII
E omipnter {(Description)
Network) P
A | Flat Network I. |Describes today's worldwide connection of networks
Describes a network that lies completely inside a trusted area of a network
B. |Extranet I . : ) i =i
and 1s under the security control of system and network administrators
o | i m Describes a network that avoids packet-looping issues, through an architecture
that does not have layers
. |Describes a network that is an extension of a selected portion of a company's
D |Internet vV N
Intranet to external partners

Choose the correct answer from the options given below:
1. A-IV. B-III. C-1, D-II
2. A-IIT, B-TIV, C-I1, D-I
3. AL B-1, C-IIT, D-IV

4. A-IIT, B-IV, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 34212312254 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

a1 gt o
(PUEX AeTH) (ferarom)
A |Uce dcad I |3 & fayerdt Sead & Saie &1 gui- ddl 8l

- U Acgd &1 9= BT & ol Quidar Aead & fausd 87 & iz 3R gomeh
& [dige U g Yead weres! & e Raa g erar 21

c |e=re - ﬂﬁﬁeaai?%alﬂﬁ Bl § Sl URde - HeeT & Aread ¥ Udhe-qfth1 qel 1

= | @ UY Jeqd &1 9Uf- BT § &l P & 52 & Tafd 32 $1 9l
JEESE | yrfieRi &1 Suaw gld 8|

A f6u U A edl § U Jot IR 1 I994 HIIU;

1. A-IV, B-1II, C-I, D-II

B

. A-IIL, B-IV, C-II, D-1
3. A-IL, B-L, C-IIL, D-IV

4. A-III, B-1V, C-I, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212312255 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is known as the heart of sewage treatment?

l. Primary treatment

t-2

. Secondary treatment
3. Tertiary treatment

4. Advanced treatment
Options :
1.1
2.2
3.3
4.4
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Question Number : 36 Question Id : 34212312255 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafaRad o O {64 U &1 STaad e (a9 dietie) & g6d & U 4 \HI Sidl g2
. UTY Qe

2. fgdias® eH
3. Al e

4. 39d eE

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212312256 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about class I and class II ozone depleting substances?

A. Ozone depleting potential of class-I substances are far more than class II
B. Ozone depleting potential of class II substances are far more than class I
C. All chlorofluoro carbons belong to class IT ozone depleting substances
D. HCFC-21 belongs to class IT ozone depleting substance

E. Class-I contains fully halogenated gases

Choose the correct answer from the options given below:

1. A. D and E only
2.B, C and E only
3.A.Cand D only

4. C,D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212312256 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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7% 7 U & 971 Ud 11 3TN &fividh Jedl & aR H 9 82

A. T-1 Tcdl BT IS &ivres U1 d7-11 B Joi-1 § 9gd 31fe® o
B. T7-11 dcdl D1 SIS &0 YA 97i-1 b1 gof-T1 § dgd 319 3
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2. HAdB.CTUdE
3. FHdAA.CUE D
4. HAAC. DU E

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212312257 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the correct sequence of following drinking water treatment processes from initial to
final?

A. Filtration

B. Disinfection

C. Gravity settlement of large particles
D. Flocculation

Choose the correct answer from the options given below:
1.ABCD
2.8 B, B.C
3.C.D.A.B

4.C,D,B,A

Options :
1.1
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2.2
3.3
4.4

Question Number : 38 Question Id : 34212312257 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafaRad b4 & arl &1 UR™ ¥ 3id d& ffHfchar Ufthal &1 Yg! H 91 g

A. e (hedeH)

B. ﬁ?ﬂﬂﬁfifﬁ{%ﬂmﬂ]

C.d9 Il DI R=od AU

D. 3UH (TFAIRIIRH)
HId feu U f9hedl § 9 8T IR &1 994 DI

1. A, B, C.D

2.8, BB
32C.D.AB

4.C,D.B, A

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212312258 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Doha amendment 1s an amendment to.

1. Montreal Protocol
2. Kyoto Protocol
3. Stockholm Convention

4. Rio Summit
Options :
1.1
2.2
3.3
4.4
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Question Number : 39 Question Id : 34212312258 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0
<IgT YRMEH, SHHT U Y2 ©:
1. Aiiegd Uieidid
2. 1T Uieldid
3. Widhgied grleH
4. T R v e

Options :
1.1
2.2
3.3
4.4

Question Number : 40 Question Id : 34212312259 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
{Sustainable Development Goal (SDG) (SDG No)
A | Clinate action I |sDG 12
B. |Life on Land II. |SDG 13
C. |Fesponsible consumption and production | III. | 5DG 14
D. |Life below water IV. | SDG 15

Choose the correct answer from the options given below:

1. A-1, B-III, C-II, D-IV

2. A-III, B-1, C-1V, D-II

3. AL B-1IV, C-III, D-1

4. A-1I, B-IV, C-1, D-IIT

Options :
1.1
2.2
3.3
4.4
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Question Number : 40 Question Id : 34212312259 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1S 1Y &I 11 DT e BHifoy

I I
(Umﬁuﬁm?ir&m@ﬁhﬁ) mﬂé@m
A |Saarg febar I |THshl 12
B. (YA R EET 11 (Thaisl 13
C. | 3Rard SUHRT Ud 316 | 111 |UgSiell 14
D. | 5@ & i Sflaq IV, |TEEt 15

i feu 71U fad el § 9 T8t STk &1 994 DIfIT:
1. A-I, B-IIL, C-II, D-IV
2. AL B-1, C-IV, D-II
3. A-IL B-IV, C-IIL, D-I

4. A-II, B-1V, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212312260 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The New Education Policy, 2020 envisages making all learners:

1. Social volunteers

t2

. Efficient administrators
3. True global citizens

4. Spiritual persons

Options :
1.1
2.2
3.3
4.4
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Question Number : 41 Question Id : 34212312260 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

s e =ifd, 2020 ¥ Wt fRreniegl of Hgfearad 94 & URb - 1 7S ¢
1. GHEISS WaUad (dTeifedr)

2. B UMD
3. AR(dD di%d ARG
4. SeTfdS Afad

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212312261 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Kanya Mahavidyalava. an Arva Samaji School, was established in 1896 by:

1. Bhai Veer Singh

t-2

. Agva Kaur
3. Bhai Takht Singh

4. Lala Devraj

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212312261 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ST el deTerd AHS AT Whdl & =TG- Y 1896 H HHTRId SAfdd gRI 61 T8 4i:
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SR DR

LTS e g
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Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 43 Question Id : 34212312262 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The major recommendations of the Radhakrishnan Commission are:

A. Transfer of urban universities to rural areas

B. Setting up of rural universities

C. Development of research in agriculture, commerce, law, science and technology
D. Making English language as the medium of instruction at all levels of teaching
E. Focus on student's Welfare

Choose the correct answer from the options given below:

1. A, Bonly
2.B,C,Donly
3.C.D.E only

4.B, C, E only

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212312262 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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RIS SR Bl T SR &

A. 91831 fayfaemerl &1 urHior &t H IR

B. UTHIUT gy faereral &1 9|

C. Pfty, aIfrsy, i, fag SR Ureiffe! & SryH &1 [ |
D. &1 & gyt TRl U 3iUSH HI9T &1 e &1 H1eaH 491
E. B & &l R &H digd S|

- feu U faded! ¥ FpT IR B 90 HIST:
1. ®dd A, B
2. $HddB. C.D
3.$HddC. D, E
4. HIAB. C. E

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212312263 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Ancient Texts in chronological order.

A. Rig Veda

B. Lilavati

C. Aryabhativa
D. Arthasastra

Choose the correct answer from the options given below:

1. A,C,D,B

f2

A DC. B
3.B.C,;D, A

4.A,B,D,C

Options :
1.1
2.2
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3.3
4.4

Question Number : 44 Question Id : 34212312263 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafead U= 94 &1 SIddhd & 3R Haid il
A PG
B. dicirddl
C. MUY
D. YRR

A fGu U A edl § 9 T 3R &1 994 DifeiL:

1. A,C,D,B

I

A DC. B
3.B,C,D, A

4.A,B,D,C

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212312264 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Authors Works
A |Pingal [. |Lilavati
B. |Panini II. |Chhandasastra
C. | Arvabhatta I11. | Astadhyayi
D. |Bhaskaracharya | IV. | Aryabhativa

Choose the correct answer from the options given below:
1. A-II. B-1V, C-II1, D-I
2. A-IIL, B-IL C-IV, D-1
3. AL B-IIL, C-IV, D-I

4. A-1, B-III, C-IV, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212312264 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy
1 g

A |0 L |<fiemadt
B. |qifort II. |@erIRd
C |amug 11 | 3pTeardt
D. |umREE | IV |3yl

1 feu 7T fadh el § 9 T8T IR &1 79 DIfIT;
1. A-IL B-IV, C-IIL, D-I
2. AL B-IL, C-IV, D-I
3. AL B C-IV, D-I

4. A-1, B-III, C-1IV, D-II

Options :

1.1

2.2

3.3

4.4
Sub-Section Number : 3
Sub-Section Id : 342123482
Question Shuffling Allowed : No

Question Id : 34212312265 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the passage carefully and answer the questions that follows:

A famine in China from 1958 to 1960 estimated to have killed about twenty-five million people.
The reason why that’s called a political crime-an ideological crime-which was discussed in most
detail by Amartya Sen: it’s part of the work for which he won the Nobel Prize. Sen is an
economist who treated this as an ideological crime for food reasons. He said it wasn’t a matter of
intent: they didn’t intend to kill anybody. It’s just that the ideological instructions were such that
it happened. It was a totalitarian state where no information about what was happening ever got
back to the center. They couldn’t take any action because that’s what happens in a totalitarian
state. So it was a reflection of the totalitarian instructions, a huge massacre that wasn’t intended.
They didn’t intend to kill twenty-five million people, but it was still a major massacre, and it’s
correct to call it one of the major atrocities of the twentieth century, and the worst single
component of the crimes of Communism.

Sub questions
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Question Number : 46 Question Id : 34212312266 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What period did the famine in China, described in the passage, occur?

1. 1945 to 1948

I

. 1958 to 1960
3. 1965 to 1968

4. 1972 to 1975
Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212312267 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the passage, how many people are estimated to have died in the famine in China?

1. 15 mullion

[

. 25 million
3. 35 million

4. 45 million
Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212312268 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

who discussed the famine in detail and considered it an ideological crime?
1. Karl Marx
2. Amartya Sen
3. Noam Chomsky

4. T. S Eliot
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Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212312269 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the passage. what was the main reason for which the famine occurred in the
totalitarian state?

1. Intentional government polices

I

. Unpredictable natural disasters
3. Foreign interventions

4. Lack of information reaching the central authorities

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212312270 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How does the passage classify the famine in terms of twentieth-century atrocities?

1. A deliberate genocide

f-2

. A minor event
3. an unavoidable disaster

4. One of the major atrocities

Options :
1.1
2.2
3.3
4.4

Question Id : 34212312265 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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SRIGT 8T AT 3ADT 330aT 25 Al arff &1 IR S1a- &1 el o1, iR +f 78 U uga 2y
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Sub questions

Question Number : 46 Question Id : 34212312266 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sugdd T aftid <19 gftfer g safy o afed gamym
1. 1945 T 1948

1958 F 1960

[

3. 1965 U 1968

4.1972 ¥ 1975

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212312267 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YU M & SFER = T US gftiar ¥ fda dlvl & AR S &1 301 fhar T ge
1. 15 fAferma

-2
-2
A

4. 45 Taferoq

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212312268 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fope dH § US gitiel B faxgd ol 3t 3R 34 U ddRed 3URTe HHED
1. Tl Ty
2. 3
3. [T R

4,91 9. gfeme

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212312269 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 50 Question Id : 34212312270 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SUad el A4 Tl & AHAER! & Y H gfifel & aiffpd dHed g2
. S-S a1 T/ U RUGR
2. U HH Hel
3. U® 3uivgr fauar
4. U9 AR 4 Y U

Options :

1.1

2.2

3.3

4.4

Psychology

Section Id : 342123163
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123483
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Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 34212312271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

People living on railway platforms, crowded market area on the main roads with heavy traffic are
likely to experience-

l. Energetic stress
2. Ergonomic sfress
3. Anthropogenic stress

4. Tropical Stress
Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 34212312271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Iad wiehEl, Ui W d6RT 3R S16] ¢fthd aldl 3% I3[ UR X8 dId T &l g4 Bl
HYEAI gl § -

|. Folg a1

i e

2. WIHIHS a4
3. FAIaRgIdd d-1d
4. A=Y} TG

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212312272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following is not included in Sullivan basic modes theory

|. Prototaxic mode

t2

. Pretaxic mode
3. Parataxic mode

4. Syntaxic mode

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212312272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafefad d O o1 geflad & 3Ry orel! [¥sid o 781 2 fear g 2
1. Uierefaad gurrel
2. Uiefdas gurre
3. IRTe T YuTel!
4. ¥efaas vume
Options :
1.1
2.2

3.3
4.4

Question Number : 53 Question Id : 34212312273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The leading neuroscience theories of intelligence is called

1. Parieto- Frontal interpolated theory

t2

. Frontal- Occipital integration theory
3. Parieto- Frontal integration theory

4. Frontal- Parietal symbolic theory
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Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212312273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

di< & il ARSI Rigid dedd g 2
1. Uf¥a] - Thed Scxuiaes fagid

Options :

1.1

2.2

3.3
4.4

f-2

L8]

Question Number : 54 Question Id : 34212312274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is one of the non-parametric counterpart of ANOVA?

1. Kruskal- wallis Test

t-2

. Mann- Whitney Test
3. Kendell's Test

4. Wilcoxn's Test
Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212312274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fAafeRad ® T o1 < F1Er &1 AUl Ufdey g2

f-2

4

. PYD - IAN S
dIdP I Sl

Options :

1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212312275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the equation for linear regression Y= a+b X. b stands for-

1

t-2

.Y intercept on X
. Regression coefficient

. X intercepton Y

4. Constant

Options :

1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212312275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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IRGD FHIHHU 0N & GHIHRUT Y =a+ b X H b BT 3= g2

1. X TR Y & a8

f-2

. JHIYHT 0N
3. Y IR X & a4
4. TBRI®

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212312276 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In case of normal probability curve, the graph/ curve is plotted for

1. Scores and respective frequencies

t-2

. Scores and respective deviations
3. *z’ scores and respective relative frequencies

4. *z’ scores and respective standard deviations

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212312276 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YA YAl dh H 3R / deb GRICT © -
Tt 3R 39ds T
3.z Ui 3R 39D1 g gl

—

f-2

4.z UIdid 3R 39 A [da
Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212312277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A psychologist was interested to conduct a study on gamblers. Identifying the gamblers, even
with the help of police, is a challenging task. Which of the following sampling technique will be
more appropriate to take up the study?

1. Quota sampling

]

. Cluster sampling

4

. Snowball sampling

4. Stratified sampling

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212312277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Uch TG SISl IR U 399 A1 digd 4 | S[3MRA! &l TRl HALL Fgl db b
Oferd &1 #eg 9 i, U IHITdol o €139 &1 gq FEfeiRad § 9 olF Il ddb-id! 9941
Yug & fou galfds 3ugdd givil 2

L. icT JrafeiT

2. Fel¥eR STl
3. WleTel YrgfefT
4. TR0 Sl

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212312278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Peterson and Seligman carried out their famous work on strengths. virtues and character. This
work 1s referred as-

1. Characters in Action project
2. Strength in Action project
3. Virtues in Action project

4. Values in Action project

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212312278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212312279 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The situation of conflict arising upon allocation of funding to different groups is an example of
conflict arising over issues of-

. Interest

2. Values
3. Growth

4. Demand characteristics

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212312279 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212312280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following attribute, according to Mahatma Gandhi as well as Patanjali, is an
essentlal condition for practicing non-violence?

1. Dukha
2. Vairagya
3. Krodha

4. Utsaha

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212312280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212312281 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Spreading rumours behind someone's back can most appropriately be referred as

1. Social aggression

t2

. Relation aggression
3. Indirect aggression

4. Physical aggression

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212312281 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 62 Question Id : 34212312282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is correct with regard to PASS model developed by J. P. Das and his
assoclates?

1. Planning, Arousal, Successive and Simultaneous processing
2. Programing. Attentive, Sequencing and Simultaneous processing
3. Processing, Awakening, Simultaneous and Successive processing

4. Planning, Attention, Arousal, Simultaneous and Successive processing

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212312282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212312283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is the preferred method for determining item bias?

1. Item difficutly level

t-2

. Item discrimination index
3. Item characteristic curve

4, Inter item correlation matrix
Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212312283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

—
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Question Number : 64 Question Id : 34212312284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The multitrait- multimethod design does not provide which one of the following?

1. Predictive evidence validity

t-2

. Discriminant evidence validity
3. Convergent evidence validity

4. Reliability

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212312284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.1
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Question Number : 65 Question Id : 34212312285 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The distribution, which is skewed to the left, has one high point and has many high scores is
called

1. Evenly distributed distribution
2. Platykurtic distribution
3. Negatively skewed distribution

4. Positively skewed distribution

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212312285 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212312286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In order to interpret individual test scores and to calculate confidence interval, which of the
following is important and necessary?

1. Pearson product moment correlation

[

. Test variance
3. Spearman - Brown formula

4. Standard error of measurement

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212312286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212312287 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In addition to tripartite system of working memory, Baddeley, Allen and Hitch (2011) added a
fourth component which is called

1. Iconic Sketchpad
2. Storage Rehearsal
3. Phonological loop

4. Episodic buffer

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212312287 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 68 Question Id : 34212312288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The theory which is used to compare judgements or the decisions we make under uncertain
conditions is called

1. Subliminal perception theory

2

. Signal detection theory
3. Judgmental process theory

4. Decision processing theory

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212312288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212312289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hull's approach to theory construction is called

1. Hypothetical deductive

]

. Hypothetical inductive

L

. Hypothetical intuitive

4. Hypothetical tautology

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212312289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212312290 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Who among the following is not considered as a reinforcement theorist?

1

t-2

. Thorndike

. Gutherie

. Hull

4. Skinner

Options :

1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212312290 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 71 Question Id : 34212312291 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to which theory of emotion the Physiological reaction and the emotion are assumed to
occur simultaneously?

1. James-Lange Theory

2

. Cannon- Bard Theory
3. Cognitive- Arousal Theory

4. Cognitive-Mediational Theory

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212312291 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212312292 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who is the Personality Theorist who believed that individuals are in the process of ‘becoming’
and nothing is predetermined?

1. Sigmund Freud
2. Alfred Adler
3. Carl Jung

4. B. F. Skinner

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212312292 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212312293 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The disorder where an extra Sex chromosome in the 23™ pair resulting in XXY producing a male

with reduced masculine characteristics resulting in enlarged breasts, obesity and excessive height
is called

1. Phenylketonuria (PKU)

t-2

. Turner's syndrome

LS

. Tay-Sachs disorder

4. Klinefelter's syndrome

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212312293 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212312294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the disease called Multiple Sclerosis (MS)

1. The myelin Sheath is destroved

(]

. The myelin Sheath is thick
3. The myelin shows bumps in some places

4. The electrical signals jump

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212312294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 75 Question Id : 34212312295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The functions of Gamma-aminobutyric acid (GABA) can be described in terms of -

1. Excitatory or inhibitory. involved in arousal. attention. memory

t-2

. Mainly excitatory. involved in arousal and mood

L8]

. Majorly inhibitory involved in sleep and inhibitory movement

4. Inhibitory neural regulation, involved in pain relief

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212312295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.1
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Question Number : 76 Question Id : 34212312296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The area responsible for interaction between frontal, temporal and motor areas in order to
produce speech is called

l. Primary auditory Cortex
2. Broca's Area
3. Spery's Area

4. Wernicke's Area
Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212312296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212312297 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are components of hardiness?

1. Control, Coherence, Challenge

]

. Challenge, Constructivity, Confidence
3. Control, Commitment, Challenge

4. Commitment, Collaboration, Control

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212312297 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212312298 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

One behavioral scientist is developing a questionnaire to assess the attitude towards workplace
support. Which of the following will be the best way to establish construct validity of the

questionnaire?

1

]

<

. Croanbach Alpha
. Inter- item Correlation
. Factor Analysis

. Kuder- Richardson Formula

Options :

1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212312298 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212312299 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The four phases of forgiveness according to Enright, Freedman and Rique includes -

1. Undercovering, Contemplation, Work and Recovering

[

. Uncovering, Decision, Work and Deepening
3. Uncovering, Covering, Contemplating, Recovering

4. Understanding, Balming, Generosity, Recovering

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212312299 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 80 Question Id : 34212312300 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The first psychology department in India was formally started in 1916 by

. Girindra Shekhar Bose

t-2

. IN.N Sengupta
3. MLV Gopalaswami

4. S.M Mohsin
Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212312300 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

f-2

L

Question Number : 81 Question Id : 34212312301 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The different states of consciousness like wakefulness, dream. deep sleep as well as extraordinary
state (turiya avastha) are described in

1. Mandukya Upanisad
2. Katha Upanisad
3. Svetasvatara Upanisad

4. Mimamsa

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212312301 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212312302 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The five sheaths (pancha kosas) theory is explained in

1. Katha Upanisad

(]

. Mandukya Upanisad

L

. Prasna Upanisad

4. Taittiriva Upanisad

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212312302 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 83 Question Id : 34212312303 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A famous study called the 'Robber's Cave' conducted by Sherif et all in 1961 demonstrated the
social behaviour known as

1. Social comparison
2. Equal status contact
3. Self-fulfilling prophecy

4. Reciprocity of liking
Options :
1.1
2.2

3.3
4.4

Question Number : 83 Question Id : 34212312303 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

I

L

Question Number : 84 Question Id : 34212312304 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to social identity theory. formation of a person's identity within a particular social
group 1s explained by the sequential process of

1. Social categorization, social identity and social comparision

]

. Social identity, social categorization and social comparision
3. Social comparision, social identity and social categorization

4. Soclial comparision, social categorization and social identity

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212312304 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e Sl S & YR, Ud iRy ariss 9ig & ot fbdl Fidd & 3-4d1 &1
fgfoT DI bl Uldhdl gRI suanfad fhdr Sirdl g |

L. grTfsids Hife - YR, Ararfsid SH=UdT 3R Ui qe-T
2. YIS 3T, ST Sifc - YR 3R grifsid qeT
3. GIAITSS o, SIS -4 SR 9Hifeid Hife - [HuRor
4. GIAMTSS o1, HHTSd bifc FYRT 3R QrIfsid 3H=d0

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212312305 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The process by which one person tries to change the belief, opinion. position or course of action
of another person through argument, pleading or explanation is an example of

l. Social influence
2. Deindividuation
3. Persuasion

4. Prosocial behaviour

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212312305 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gg Ufhal, TS gRI ®is Aidd dd, {Had- 3R RSl gRT Udh 3 Afdd & 9y, A7,
fufq aruar fbaraal & uRaldd B3 &1 UaY Hdl g, CARGASARTIUEE

1. QHIRSTh HId
2. [givgH

3. AT
4. SRR AdgR

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212312306 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Asking for a small commitment and after gaining compliance, asking for a bigger commitment is
known as

1. Foot- in-the-door technique
2. Low-ball technique
3. Progressive ball technique

4. Door-in-the-face technique

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212312306 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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qedsdl & T Hde 3R SFUTe & YHTq ek da-a<dl & oY (aeT Hgardi g |

3Tl ThShR gy Uh ol ddh-id

—

f-2

ENEEGERIE

3. 94HM B db-Id

4. IS T XGDHR BICT AT G BT Th-lb

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212312307 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a component of creativity according to Torrance?

1. Flexibility

t-2

. Elaboration
3. Abstractness of titles

4, Verification
Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212312307 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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RY & 3R, FEfRad # € &1 I GG dl BT 9 T8l ¢/

L. TRl

faada

. 3fTehT BT e
4. AT T JHTOISHROT

Options :
1.1
2.2
3.3
4.4

[~

L

Question Number : 88 Question Id : 34212312308 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

While Carkhuff's model describes communication skills as pre-processing skills, Ivey and Ivey
call ita

. Basic communication skills
2. Life Skill model
3. Micro- Skill approach

4. DASIE model

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212312308 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HIEH DI B I ASA IR DI B Id - THEHU DI D &Y H 9fofd Il g, fedl
3R ATl T el & -

1. §f1E] R BId
2. Siiqd HIN AlSd
3. J& DI ERBI

4. 85Il (DASIE) AISd

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212312309 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A key element in all therapeutic process is the development of an effective -

1. Challenging

t-2

. Personal integration
3. Advanced empathy

4. Working alliance

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212312309 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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il SUARI & T dd U YUl SUaIR UGfd &1 fddrd 8
A &

. G UDHIHUT

. 3Fafd FHTIHIT

4. B MY

—

f-2

L8]

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212312310 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Some casual factors occurring relatively early in life may not show their effects for many vears,
that may contribute to a predisposition to develop a disorder. These would be considered as

l. Proximal risk factors
2. Distal risk factors
3. Fixed risk factors

4. Concomitant risk factors

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212312310 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Siidq T efUgidhd Sleg] 9icd i did $& SRUNED By d¥l ddb 0T TUTd g1 Gl abd
g, il fIBR [9Dd 814 ®I Ugid & AMTeH & Udhd g, 38 39 UhR T SIU

L. GHITR SIRgH PREH
2. G SIRGH SR
3. FAfga Sifan eR&
4. ggdd! SIRaH HRD

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212312311 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kohlberg's stages of moral development follows-

A. Being a moral person in the eyes of others

B. Makes moral choices based on beliefs

C. Behaves appropriately to avoid punishment

D. Conflicts with moral principles and individual rights
E. Makes choices based on what is right-behaviour

Choose the correct answer from the options given below:
1.C.,E.A,B.D
2D E R AC
348D ER

4.B.E.C.D. A

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212312311 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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DI & Afdd [dHg D gyt Hafafad eea 1 g

A. GIRI DI 7oRI ° U Hfdd Al gl

B. [aYl UR 3M1emRd Afdd gH1d ST |

C. &3 Y g & el 3ugdd HIgR HAT |

D. Afded Ragidl 3R qufddd HUGRI & T2 g |
E. Ygl AdgR & 3MTYR TR gATd BT |

i fu U fad el § 9 @81 IR &l 994 Diflu;

1.C.E;A, B, D

2.D,E,B,A,C
3.A,D,C,E,B

4 B.E.C.D.A
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212312312 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following behaviours of the child as per Piaget's stages of cognitive development.

A. Th child says the volume of water in a long glass is same even when it is poured into flat
bowl

B. The child looks for an object in the same place where it was hidden earlier

C. The child says that the clay ball in round shape is smaller than that the one flattened right in
front of her

D. The child argues that cycling gives a better exercise to hip muscles than bending exercises
by citing reasons

Choose the correct answer from the options given below:

1. B, C.A: D

]

B, A€, D

3AC.B.D

4. C,A,B,D

Options :
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1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212312312 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 [SU U 91d 8R! & (TR & YIHIES [dH ST a1l & TR U A8
HIR|

A. STdId $Hgdl g fd U ot [Tely o Uil &t 711 dd 1l SRR &d 3 Udh GuIc hek
SIGIESIGI

B. dldd Udh 9% &l 98l gadl g 39+ 34 Ugd Gum o |

c.mgm%ﬁiﬁ@aﬁﬁawﬂ?wﬂtﬁm%ﬁmmﬂ%ﬁww
gl

D. d[dd I¢Yd GHR gg db adl § [ HIgfdhd TalHl B dI UGS & U g
AR ¥ §gaR B

" fSu U fameul § 9 98T 3R 1 994 DIeIU:

1.B,C.,A.D

22B,A,C,D

3AC.HB.D

4. C,A,B.D

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212312313 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following cognitive points sequentially to explain helping behaviour as suggested by
Darley and Latane

A. Taking responsibility

B. Defining an emergency

C. Taking Action

D. Noticing

E. Planning a course of Action

Choose the correct answer from the options given below:

1.B,.D.E A C
2.B,E,D;AC
3.DA;B,E, C

4.D,B,A.E,C

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212312313 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SR 3R €I gRI1 UdTidd Yerid HdgR bl WF B & ot (9 T fagai ol
DS U Y A Y BT |

A, STHGRI T |
B. 3UTdDHT URHINT BT |
c. fhar &A1 |

D. YT ST
E. A1 SIS &3] |

A feu T faw el § ¥ gt IR B 99 DIIT:

1.B,. D E A C

DB E 13, A€
3.D,A,B,E,C

4.D,B,A,E,C
Options :
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1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212312314 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in the sequence of personality development propounded by psychoanalitic
theory

A. Children refuse to defecate in the toilet, while some hold back the feces
B. Children enjoy breast feeding by mother and put everything in mouth
C. Children develop interest in opposite sex

D. Children are found to play with their genital organs

Choose the correct answer from the options given below:
1.A.C.D.B
2.B,C,D.A
3.B.A.D.C

4.D,A,B,C

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212312314 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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IRy Rgid gRT ufdaried iddd [dh™ & MR W 9 &1 b Fu Y
TqRRYd HIfTU|

A. S U1 H AT & {67 A1 6% 6 d ¢ Sdid $& AddnUdb dd g |

B. S AT §RT &0 BT S H 3He od ¢ 3R U 9% 4g ¥ STeid ¢ |
c. 9= yfaqa fdT d§ T ad gl

D. §=d 3G ST 3T & 91y Weld GTu Sid ¢ |

A1 feu U faswhedl § ¥ gl IR B 99 DIIT:

L. A€ 1. B

2.B,C,D,A
3. BA DT

4.D. A B, C
Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212312315 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :

Arrange the following behaviours of a University professor in a hierarchical order as per
Maslow's theory of motivation

A. Buys a two-bedroom flat

B. Attends at least one refresher course in his discipline every year
C. Applies regularly for various awards

D. Tries to maintain close relationship with the students

Choose the correct answer from the options given below:
1.LADCB
2 DA B C
3D,C.B A

4.A,.B.D.C

Options :
1.1
2.2
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3.3
4.4

Question Number : 95 Question Id : 34212312315 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ARl B Aifed=H (MR G & 3FUR Uh fayfdered Ugdard & (4 HagR] &l
EHHD HH H HaiRYd BT |

A. Tg - TIde Yol Wiie

B. U ay 3(U-1 [Iem=ire § & U $H U JAYT] Uréashy 1 SUfd giH|
c. fafdy QBRI & AU ([afd U U 3fdad ! |

D. {9l & Ty gy Ydo e 3G DI HIRH DT

I feu U 9wl § 9 8T IR B 99 DIIT;

1.ADCB

2.D,A,B,C
L TCB A

4 A B.D.C
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212312316 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following stages of therapy advocated by Adler

A. Building therapeutic relationship
B. Gathering information

C. Developing new skill

D. Gaining insight

Choose the correct answer from the options given below:

1.B.A D, C
28 BT
3.B,A,C,D

4. A, C,B,D
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212312316 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

USSR gR1 94idd 4 fGu gu mraef &1 srawi1afi &l afyd Hifo

A. SUARIAS Yy fAffd B3
B. Y1 3H 31 Bl |
C. 93 Sl [aH R B

D. 3def urftd
A fau U fadedl § 9 ¥8T 3R &1 994 DifoIu:

1.B.A. D, C

f2

A B BC
3B, A, C,D

4.A,C,B.D

Options :
1.1
2.2
3.3
4.4
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Question Number : 97 Question Id : 34212312317 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in a sequence as per the health belief model where an individual-

A. Reads about the various factors related to cancer

B. Stops smoking

C. Feels that since his father died of cancer he is likely to be genetically disposed

D. Understands that if he continues to smoke there is higher possibility of his suffering from
cancer

Choose the cerrect answer from the options given below:
1.C,D.A.B
2.D,A,C.B
3.4,C.D B

4.D,C,A,B

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212312317 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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9 @1 g fofeTs AISd & SHUR DS HH H AT BT gl U Al -

A. HIR g [afdy SR & a9y § ugar g
B. AU BIS Gl 5|
C. HeYH &l ¢ i dfh Iud U1 it Jg HER U g3 Ul IUD! 1 3-dRId Iquiid
Bl I UG E |
D. gﬂ%ﬁﬂ?ﬂ%ﬁ? 3[R 98 YHUM Hdl 81 dd 3D SR U IR gH I 3fad Jura
|
A feu U fahedl § 9 a1 IR B 98- DIIT;

1.C,D.A,B

2. D4, C B
3.A,C. D, B

L DCA B

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212312318 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Following are the steps that should be followed to enhance critical thinking. Arrange them in
sequential order

A. Adopt the attitude of a critical thinker

B. Evaluate information sources

C. Recognize and avoid critical thinking hindrances
D. Identify and characterize arguments

E. Evaluate arguments

Choose the correct answer from the options given below:
A CHRBE
2.8 B CoE D
3B, A EE D

4.C,A,B,E,D
Options :
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1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212312318 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ATArAIHD el &1 9l & U (9% 9RONl Bl SFITHA BT d1igU | (5ad &l it
o H aYd IGIT:

A. ArAdHS e &1 f[daR 991
B. Y1 &idi & Gedidh-
C. AAFATHD [Hd- Thldel &l UgaHHR 394 d-]
D. dh{ &l UgdHI 3R T&0l Il
E. IPI &l Gedih
A fSu U fasmedl § 9 ¥8T 3R &1 994 DIoIU:

1.A,C,D.BE

2.4, B, CE D
3.8:; A, C,E, D

4. C,A,B,E.D
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212312319 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Cognitive psvchologists and survey researchers have acknowledged that answering survey
questions can be a complex cognitive task. Research suggests that when people answer survey
questions, they go through four stages. Arrange the stages in order.

A. Comprehension

B. Judgement

C. Response communication
D. Retrieval

Choose the correct answer from the options given below:
1.A,D.B.C
2.4 R0 C
3.B.A.D,C

4B, C,AD

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212312319 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YD FAIGRID 3R A& 2efdhdisf 4 WibRI ¢ fdb T Jara! B I &A1 Uh
Sifed TS B © | e YA &dl g fb 51 @ Jd&01 JdTel & 3R od o: a9 d 9R
RO Y TORd § | TRU & i H aid HIfTu:

A. TR (PHEUETH)

B. g (St

C. 3T GaR (IUTY HHGTH)
D. ITINH (ReTaa)

A feu U faded! § 4 Ug! 3k &1 994 BHIfIu:

.A,D,B,C

[

A B, D, C
3.8, A,D.C

4B, C,A D

Options :
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1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212312320 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the early schools of psychology in order

A. Structuralism
B. Functionalism
C. Behaviourism
D. Humanistic

Choose the correct answer from the options given below:

1.B.A,C.D

t-2

B, CA D
3:AB €D

4. A.C.B.D
Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212312320 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TG &1 U AR B 7w & o i

A. TETHS (TR 3iferoH)
B. Uh[dIG (haRHdwH)
C. AdgRarg (f[agfamesm)
D. AHqdIaIg] (GgHARTD )

A fGu U A edl § O 8T 3R &1 904 DifoiL:

1.B. &, C,D

2B CAD
34.B, €D

4. A,C.B,D

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212312321 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the following situations. Then order them in the sequence of nominal, ordinal, equal
interval and ratio.

A. Eggs in the supermarket are graded as small, medium, large and jumbo
B. Employees are assigned identification numbers

C. Achievement motivation of hockey players

D. Players' height

Choose the correct answer from the options given below:
1.B,C,D A
2.B,A,C,D
3.A,B.D,.C

4. A.C.B.D

Options :
1.1
2.2
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3.3
4.4

Question Number : 101 Question Id : 34212312321 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A. gRATdE H 33 I, 914, 99, 6l & 0 H SR
B. HHAING! DI GgdH A (Ed B 1S

C. gl Raansdl 1 dr ffg R

D. syl & a@rs

A fGu U A edl § 9 T 3R &1 994 DifeiL:

1.B,C,D,A

I

.B.ACD

s

A BB C

4. A,C.B,D

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212312322 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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One organisational psychologist wanted to verify the efficacy of a group based development
intervention. For this purpose he undertook an Action Research. Suggest the correct sequence of
the following components of his research.

A. Acting through the intervention
B. Observation

C. Planning about the intervention
D. Reflection

Choose the correct answer from the options given below:
1.B.C,D. A
28, B A D
3.C,A.B,D

4 B,C,A,D
Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212312322 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UF W16 FAlGHIE SHE UG G §HeT (SIa=M) F1 40 $1 Feiidd S A5dl ¢ | 59 [0 I UF ai-g e
TR 1 Fopm foram ) i 3w Y 390 S ee & Oee & 9El e H aany

A. BEI&T (3<dTH) SRI B
B

C. &Y & U QIoHT g4 1
D. WRId

T feu U faw eyl § 9 8T IR B 99 DIfIT;

1.B.C.D. A

[

.G, B,A, D

3. CA B D

4.B.C.AD
Options :
1.1
2.2
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3.3
4.4

Question Number : 103 Question Id : 34212312323 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

One psychologist has developed a tool on Nature connectedness. What would be correct sequence
of the following psychometric activities.

A. Carrying out Exploratory Factor Analysis
B. Establishing Percentile Norm

C. Examining Croanbach Alfa

D. Verifying Predictive Validity

E. Establishing Content Validity

Choose the correct answer from the options given below:
1.E,C,A,D,B
2ZEEAB.D
340 E, B. 1)

4.C,E,A,D,B
Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212312323 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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U 141D H YD Ydadl &1 U idell fasfad fhar ¢ | -9 mai-id fbarei o1 ggl
3H TS T AU,

A. JHAY] WS fayul &1 UTel Bl

B. IddHD AFS JIUT ST

C. BIFdId Al STl

D. JdH UMD JUdl YA BT
E. [qwaded dedr gaiud o1

A fau U fasedl # 9 ¥8T 3R &1 994 Dol

1.E,C.A,D,.B

2.E.C.A.B.D
3.C,AE,B,.D

4.C,E,A,D,B

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212312324 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Place the components of ‘Broaden-and- Build model of Positive Emotion’ in correct sequence

A. Building Enduring personal resources

B. Positive Emotions

C. Enhanced Health Fulfillments

D. Novel thoughts, Activities, Relationships

Choose the cerrect answer from the options given below:
1. B LA C
2.B.AD,C
3.D.B.A.C

4.D.A,B,C
Options :
1.1
2.2
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3.3
4.4

Question Number : 104 Question Id : 34212312324 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIS US fdes disd 3 Uiiiied SHIRM® & Ui &l Tl 3hHih § o |

A. I8 afdad a7y faeiad H3A1
B. GHHD HId

C. Wreg i gfd
D. a1 fdaR, Ty, Trar

A fGu U A edl § 9 T 3R &1 994 DifeiL:

1.B,D,A,C

I

.B,A,D,C
2D, B A

4.D,A B, C

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212312325 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following literary works on different facets of “Yoga’ in chronological order.

*Anashshakti Yoga™ by Mahatma Gandhi
*Gitarahasya’ by B.G. Tilak

*Gatha’ by Tukaram

“Upadesha’ by Raman Maharishi

onwy

Choose the correct answer from the options given below:

1.C.D.BA

t2

A0 B, Lk

3.B,C,D.A

4.B,C,A,D
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Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212312325 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

URd ¥ TR & (i ugesti IR (9 Hifgfdid Ia1el i dIdarsfe oF H ey

A. HETHI T P < SFmRIdd gnT
B. ol Sil. fdd® &l iidrgwr
C. JHRM DI -TYT

D. 3 Hefl &1 “JUer

+id fqu T fas eyl § 9 @8t 3 &1 994 Sifeu:

1. C.D.BA

2000 T
3B, C.D. A

4.B,C,A,D

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212312326 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following statements are correct?

A. Internal locus of control enhances the perception of stress

B. Stress functions as a motivator

C. The behavioural indicators of stress in children are seen in cognitive abilities, social
competence and academic performance

D. In resistance stage of General Adaptation Syndrome (GAS), the physiological arousal peaks
upto the all time high

E. Neglect, Victimization, Physical assault constitute toxic stress for children

Choose the correct answer from the options given below:

1. A, C,E only

t2

. B, C. E only
3.A.C,Donly

4.C,.D,E only

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212312326 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fgfaRad § 9 &9 T &Y 9l o2

A. AR [AUiad] ®IF 991 &1 YR B Seldl o

B. 019 Uh IR & =7 H HH Bl §

C. 9=l H d1d & ATaeIRG Ybad YIHIAS, HIe® 3R e erdrsii d <@ od g

D.WH@F@{G.A.S)%W%WﬁWWWWWW
BEERSIGI

E. 3Uel, IdisH, ARG gHe g & folu fasTad dH1d &l dRUTEHd o

A fau U fasedl # 9 ¥8T 3R &1 994 Dol
1. HId A, C, E

2. HAd B. C. E
3. HAd A, C.D
4. HAd C.D. E

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212312327 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following statements are correct?

A. Emotionally arousing stimuli have also been seen to lead to amnesia

B. Some cognitive processing must occur before an individual can experience an emotional
response to an event

C. Repression is a form of motivated forgetting

D. Functional Magnetic Resonance Imaging (fMRI) and Position Emission Topography (PET)
are invasive scanning techniques of studying the brain functioning

E. Theories of emotions have not changed much over the years

Choose the correct answer from the options given below:
1. A, B, Conly
2. A, B.D only
3.B,C.D,E only

4. A,B,D,E only

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212312327 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FofRad AT e T HYT 90 o

A. HIGTIHD =T ¥ FafoId B drett Juiorrsit ¥ Hi Ffdeiy &1 fufe S gidt &t 18

g
B. il afad &1 fddl g1 & Ufd Uia-1dTd Uidihdl &1 3 Hd B 9 Ugd $&

TRIHTHD YHH0 BIHT dlieU

C. &HA (RUTF) IR [d@RU BT FU g

D. BaRHd ATHIEH IS SHISHT (UH TH 3R 5 ) 3R UITSIRM SHIRF MBI (di's d1)
feuTT ulharall &1 g+ SR &I AThHD Tihdrl g

E. Y13 & fagidl d fIod 2 aul & 984 ¥ uRadd g1 g

A fqT U g edt # F Fg IR &1 99 BT
I.HAd A, B, C
2. Hdd A, B.D
3.®ddB.C.D,E
4. ®Hdd A, B, D, E

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212312328 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Richardson's Resilience model refers to which of the following?

A. Reintegration with a loss

B. Resistance index

C. Biopsychospiritual homeostasis
D. Disruption

E. Outcome Index

Choose the correct answer from the options given below:

1.B, C, E only

b2

G D, Eonly
3.A,C.Donly

4.B, C,Donly

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212312328 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e &1 ddiand (o) Alsd HgiaRad § 9 ooy 9= g 2

A. B & 1Y T: THIHR0I

B. UfcRIY Gddbidh (oY S3a)
C. ANTSh AR 3

D. faged

E. URUMH YA (ASCHH 3o949)

Hid fau U fadheul § 9 F87 IR &l 99 BT
1.$hdd B, C. E
2. $HAd C, D, E
3. hdd A, C.D
4. $Hdd B, C.D

Options :
1.1
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3.3
4.4

Question Number : 109 Question Id : 34212312329 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Pineal Gland

A. Helps increase the blood calcium level

B. Secretes a hormone called *melatonin’

C. Is located in epithalamus

D. Secretes hormones called *parathormone’ and “calecitonin’
E. Is used to be known as the “Third eye’

Choose the correct answer from the options given below:
1.A. D, E Only
2.B,C.E Only
3.C,D Only

4. A . B.C.E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34212312329 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Uiiad Uiy (Gland)

A. 3Gd BT TR P dgH H Heg didl o

B. ‘Tl A4S SHH Wfdd Hidl §

c. Affdaer HRR[d s

D. “TRIYMHA 3[R “hed el AHE gMiH Wiidd Hdl o
E. 39 <O} 3@ & 99 9 SH1 Sl &

- feu U faded! ¥ FpT IR B 90 HIST:
1.Pdd A, D, E
2. $HIAB. C. E
3.%ddC.D
4. HAd A, B, C.E

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212312330 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Reality Therapy in counselling

A. [s based on principles of choice

B. Emphasises self-evaluation

C. Focuses on the way we live and exist

D. Views empowerment from a strength-based perspective

E. Follows the stages of Wants, Direction, Evaluation and Planning (WDEP)

Choose the correct answer from the options given below:

1. A, B.E Only
2. A, C,E Only
3.A.B.D Only

4. C,D. E Only

Options :
1.1

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 125/179



8/31/24, 10:35 PM g28.digialm.com/CAE/viewHtmIPDFAction.action
2.2
3.3
4.4

Question Number : 110 Question Id : 34212312330 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

feferen Rl H ardfdddl (Reality) ©

A I8 4T & Rigidl R enuiRa g

B. 3TH e W 9IR &l g

C. H I e U Bd § 3R Td § 8, 39 IR &H diwd Il ©

D. IRIGdH0r &1 Yfad 2menfid efdswion g eamn

E. Z13l, fG=0T, getichT 3R Ao (39 31 5 Ul ) & RO 6T 380 &l §

Hd 3 U fadetl § ° F87 IR &l 994 HIfST:
1. hdd A, B, E
2. hdd A, C, E
3. hdd A, B, D
4. HAdC, D, E

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212312331 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Five ways to be proactive includes the following

A. Predict

B. Prevent

C. Program
D. Plan

E. Participate

Choose the correct answer from the options given below:

1.A,B, C, E Only

b2

.B, C, D, E Only
3.A.B.D. E Only

4. A B, C,D Oaly

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212312331 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tishd 81 & Uid dlieh Fafeiad g
A. Yid™4aToff ST
B. AFHHAT
C. HYdl d4H1
D. Ao
E. [g=a o
A [Su TU [d&edl § 9 ¥8T 3R &l 994 DI
. $dd A, B.C. E
. Hdd B, C.D,E
3. Hdd A, B.D,E

4. Hdd A. B, C.D

Options :
1.1

t-2
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3.3
4.4

Question Number : 112 Question Id : 34212312332 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are included in Bruner's theory of cognitive development?

A. Enactive
B. Echoic
C. Iconic

D. Symbolic
E. Deontic

Choose the correct answer from the options given below:
1. A B, COnly
2. A,C,D Only
3.A,C,EOnly

4. A, B. E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212312332 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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IR & UIHTEHD fdbr & Rgid o Fafafad o 9 o i g

A RS

B. Ufqef

c. ufdafgd

D. UdidhIald

E. %~W[Deontic}

- feu U faded! ¥ FpT IR B 90 HIST:
1.Hdd A, B, C
2. HAAA, C. D
3. HAA A, C.E
4. BT A, B E

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212312333 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are not true about the differences between simple regression and multiple
regression?

A. The number of predictors

B. The number of criteria

C. Coefticient of determination
D. Sample size

Choose the correct answer from the options given below:
1.A, C,D Only
2. A.B,D Only
3.B. C, D Only

4. A. B, C Only

Options :
1.1
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2.2
3.3
4.4

Question Number : 113 Question Id : 34212312333 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ISR GIGTH 3R 98 Ui & did ik & R § FEfdaiad § 9 & 9 S 9 781 8
A. Hia=aIiorgl &1 Ewe

A
B. A3l & ]
C
D

RCUIR AR IEH
G DI DR

Id f3u U fadedl H§ 9 F87 SR &l 99 BT
I.hdd A, C, D

. $Hdd A, B.D

3. $hddB.C.D

4. Hdd A, B, C

Options :
1.1
2.2
3.3
4.4

I

Question Number : 114 Question Id : 34212312334 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following terms are associated with Gestalt approach

A. Molar
B. Nativistic
C. Atomistic. Elementistic

D. Cognitive, Phenomenological
E. Objective

Choose the most appropriate answer from the options given below:

1. A, C.D Only
2.A.B.D. E Only
3.B,C,D.E Only

4. A.B.D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212312334 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafafad O 9 &4 91 Wec GHUISIT (TTHCTee) ¥ 4 S 82

A, HITR
B. dciauied

2 S CARR
D. UFTd®. 9eATHS
E. 32

-+ fGu T fasedl § 9 &gl IR &1 994 Sifeu:
|.Pdd A, C.D
2. Hdd A.B.D.E
3. Hdd B.C.D.E

4. Pdd A.B.D

Options :
1.1
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2.2
3.3
4.4

Question Number : 115 Question Id : 34212312335 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following are the reasons for forgetting?

A. The information is not attended to and fails to be encoded

B. Information accessed repeatedly decays

C. Older information in memory interfers with the learning of new information
D. Newer information interfers with the retrieval of older information

E. Information attended and perception is poor

Choose the correct answer from the options given below:
1.A C,DOnly
2.4A,B,C,D Only
3. A.B.D Oaly

4.B,C, D, E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212312335 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFreafafad H I S I Yad & HRUE 2

A. JIH1 IR 9 91 7601 SI1d1 § 3R 39 THdIS 8! [l Srar g
B. SR-9R I P1 T8 SHBRI ¥ g ol §

C. Wfd ¥ RET THSRI A5 SIS Uikg- 1 d141 STefdl ©

D. 8 SHSRI R STHSR] &1 GUid H 9147 ST &

E. Yo SUdsY g1 § 3R YRUNTERTE §

- feu U faded! ¥ FpT IR B 90 HIST:
1.®dd A, C,D
2. $Hdd A, B.C, D
3. $HAdA. B.D
4. $hAdB,C. D, E

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212312336 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are community based protective factors for resilience among children
A Ties to pro-social organisations
Authoritative parenting
Organised home environment

B.
€.
D. Neighborhood with high collective efficacy
E.

Effective schools

Choose the correct answer from the options given below:
l1.A, C,D Only
2. A, D, E Only
3.C,D, E Only

4.B. C. D Only

Options :
1.1
2.2
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3.3
4.4

Question Number : 116 Question Id : 34212312336 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafefad 4 9 & U o= § d<idig & ot ey eiRd GRS dRb 52

A. GRS G131 9 ey

B. 3UHRYU] TeH-areo]

C. G d =R ardraRol

D. 3= UH[gdh WHIGHTRAT dTell TS
E. UHTdl I d

- feu T fadetl # 9 FoT IR &1 99 DIfIT:
1.HdAA, C, D

HAA A, D, E

3. $HIdC. D, E

4. $ddB.C.D

Options :
1.1
2.2
3.3
4.4

[

Question Number : 117 Question Id : 34212312337 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following methods can be used to determine the number of factors to be extracted in
Exploratory Factor Analysis:

A. Liserel Analysis

B. Scree Test

C. Eigen value criteria
D. Rotation

Choose the correct answer from the options given below:

1. A, B Only

b2

.B, C Only
3. C.D Only

4. A. D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212312337 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IAYUTHS HRG (A=A H FhTel S el BRI i e Hid H34 & fou Hafeiad
o 4 Ty fafe &1 ygi fhar s udhar g 2

A. fereRe fazewo

Hid fau U fadheul § 9 F87 IR &l 99 BT
1.Hhdd A, B
2. HAd B, C
3. Hdd C. D
4. Hdd A, D

Options :
1.1
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2.2
3.3
4.4

Question Number : 118 Question Id : 34212312338 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following softwares can be more helpful for analysis in qualitative research by a
psvchologist?

A. SPSS
B. AMOS
C. NVIVO
D. ATLAS
E.R

Choose the correct answer from the options given below:
1. A B Only
2.B.D Only
3.C.D Ounly

4. B, D, E Only
Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212312338 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TGRS GRT JedTdTd S H Ry & fou HafaRad d§ § $H 91 UltedmR 3fid
Ygldd ol hdl o2

A THUITHTY
B. 3THY

C. TAdIdl

D. Uccly
E. 3R

- feu e faseut # ¥ #T IR &1 99 DI
1. I A, B
2. BIAB. D
3.%dd C.D
4. HddB, D, E

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212312339 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following refer to Advanced Empathy as per the Developmental Model of
Counselling?

A. Confrontive challenging

B. Theme identification

C. Connecting islands

D. Making the implicit explicit
E. Fortune telling

Choose the correct answer from the options given below:

1. A. B. E Only

]

.C, D, E Only
3.B,C,D Only

4. B, D, E Only
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Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212312339 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fraferfes & @ &9 1 ooed F Geaere 5ise & HuR 990 9eryly ©f geiifd #ars
A. IAITAYUl G HAT
B. [qga¥] UgdI
C. DG HZA S

D. 3Higd ¥ BT
E. YIG ST

i feu 71U faehedl § 9§ 8T IR S 994 DIIT:
1. hdd A, B, E
2. $hdd C, D, E
3. $hdd B, C.D
4. $ddB. D, E

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212312340 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following are methods used in challenging in counselling as per the Developmental
model of Egan?

A. Reviewing better times
B. Asocial response

C. Identification of models
D. Immediacy

E. Self-disclosure

Choose the correct answer from the options given below:
1. B, D, E Only
2.A,C,D Only
3.A.D, EOnly

4.C, D, E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212312340 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST & fadb s Hied & YR R | 4141 &1 & v (afafad § 9 &1+ 9 fafeaf
SUGNT bl S § 2

A. 98 THT D] THIET HAT
B. UG Ufdfchar
C. Higdl &I UgdH

D. 3ffqdiddr Sftfsadn
E. 3TH UH THI0

A feu T faw el § ¥ gt IR B 99 DIIT:
|.$ddB. D, E

2. HAAdA. C.D
3. HAdd A, D, E
4. HAAC.D.E
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Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212312341 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are included in the steps of Eye Movement Desensitization Reprocessing
(EMDR) therapy?

A, Assessment

B. Cognitive restructuring
C. Installation

D. Skill Acquisition

E. Body scan

Choose the correct answer from the options given below:
1.A, C,.D Only
2. A, C,E Only
3.B,D, E Only

4.B, C,D Ounly
Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212312341 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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?aﬁ@aﬁﬁaﬁq%ﬂmmﬁﬁaﬂamwémam}m$Wﬁmﬁa

A, 3lhcd
B. GMIEHD TS
C. Ufasmd

D. DI ARG
E. IRR Bl &g

d feu MU 9 el o 9 F8T SR &1 98- BHifIT:
1.had A, C, D
2. Hdd A, C,E
3.$dd B, D, E
4.$ddB,C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212312342 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following refer to the theories of Health Behaviour?

A. Reflection-Action Theory

B. Protective Motivation Theory

C. Dialectical Behavioural Theory

D. Precaution Adoption Process Model
E. Organismic Integration Theory

Choose the correct answer from the options given below:

l1.A. C.DOnly

B

.B. C, D Only
3. A, C,.E Only

4.B, D, E Only

Options :
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1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212312342 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

EfRad H ¥ &IH Wy dgR & [gidl &l Yaldd #drg 2

A. WRddA fobar fgid
B. Q&S WM fgid
C. dIdiTd HdeR [gid
D. TEyT AU &1 Uishar Aisd
E. Sild Ui 0l [&gid

- feu e fasett 7 ¥ @871 IR &1 99 DI
1.®dd A, C, D
2. $HddB.C.D
3. $HAAA, C.E
4. Hdd B, D, E

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212312343 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following are characteristics of a good Hypothesis ?

A. Affirmative statement

B. Interrogative statement

C. Falsifiability

D. Conjectural

E. Concludes relationship between variables

Choose the correct answer from the options given below:

1. B, D, E Only

b2

A, C,D Only
3.B. C, D Only

4. A, C, E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212312343 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafaRad o 9 &1 Il =3t uReb T &1 fa2ivdid 32

A JHRIAD YT
UYdrdd HUA
- TR viigan

B
C
D. A
E. TR & a9 a8 BT By
-+ fGu T fasedl § 9 &gl IR &1 994 Sifeu:
|.PddB.D.E
2. hdd A, C.D
3. hdd B. C. D
4. PAdA. C.E

Options :
1.1
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2.2
3.3
4.4

Question Number : 124 Question Id : 34212312344 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are measures of dispersion?

A. Standard Deviation
B. Quartile Deviation
C. Mode

D. Variance

E. Range

Choose the correct answer from the options given below:
1. A B, E Only
2.B, C, D Only
3.A.B.D.E Only

4. A, B, C,D Ouly

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212312344 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Fafafad o 9 & hdd (Ggada) #1am g 2

A. HHd fdda
B. dgdd fdaeH
c.HIS

D. UREdH (@Rda)
E. UMY (350

i fu U fad el § 9 @81 IR &l 994 Diflu;
1. $ddA. B, E

2. Had B. C.D
3. BAd A, B, D. E
4. BAAA. B, C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212312345 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Advaita Vedanta asserts that sensory knowledge is

A. Ilusionary

B. Absolutely false

C. Possible in a transcendental state

D. Relatively true, but not absolutely true

Choose the correct answer from the options given below:

l.C,D Only

2. A.B Only

3.A.D Only

4. B, C Only
Options :

1.1
2.2
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3.3
4.4

Question Number : 125 Question Id : 34212312345 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3gd dgid Bl AFI§ [P SFaoH I HI I © 2

A. YATHSD
B. [ocdd 3o
C. URdldhd = H Hd
D. UIY&Id: U i quic: T gl
= fSu U fadeul § ¥ 98T 3R 1 99 DIIT:

1. $hdd C. D
$Hdd A, B
3. $hdd A, D
4, HAAB, C

Options :
1.1
2.2
3.3
4.4

[

Question Number : 126 Question Id : 34212312346 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Theories of Motivation Theories
A | Drive-Reduction Theory I | Yerkes and Dodson
B. |Personality and Nach II. |Richard Ryan and Edward Deci
C. |Arousal Theory III. | Carol Dweck
D. | Self-Determination Theory | IV. | Hull

Choose the correct answer from the options given below:

1. A-IV, B-1, C-II, D-III

I

. A-IV, B-III, C-1. D-1I
3. A-Il B-IIL, C-1IV, D-1

4. A-1, B-IV C-II, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212312346 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A 1 & 1Y &I 11 D1 e Hifsiu

I II
- o
A [SEa @R fgid 1 [ 3R STgEd
B. |=fddd SR 9 (@At iR Am)| 1. [ o SR ggars o
c. [sow sl 1L |[PRI SdP
D. |3l gl v |gd

+Id AU U [qahedl § U T IR &1 994 DI
I. A-IV, B-I, C-II, D-II
2. A-IV, B-IIL, C-1, D-II
3. A-IL, B-IIL, C-IV, D-I

4. A-1, B-IV C-II, D-111
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Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212312347 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

LISTI LISTII
Sage Bharata's Classification of Bhavas| The English Equivalent
A |Krodha 1. |Disgust
B. |Bhava II. | Wonder/Astonishment
C. |Jugupsa III. | Anger
D. | Vismaya IV. |Fear

Choose the correct answer from the options given below:

1. A-IIT, B-1IV, C-1, D-II

2. A L B-1IV, C-II, D-II1

3. A-1l, B-1V, C-1, D-III

4. A-IV, B-11I, C-I1, D-I

Options :

1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212312347 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

I 11
ﬁmm%mmﬁmm srﬁﬁ%ﬁmam
A [Py 1 |fsap
B. [v¥T 11 (3fsy ) TeHgse
C. oo Il |G’
D. (G V. R

" U U 9 edl § U I8t 3R &1 999 BIIT;

1. A-IIT, B-1IV, C-1, D-II

[

AL B-1V, C-1I, D-TIT
3. AL B-IV, C-1, D-TIT

4. A-IV, B-111, C-II, D-1I

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212312348 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

LISTI
Parts of Nervous System

LISTII

Function

A |Hypothalamus 1. |Fear responses and memory of fear

B. |Hippocampus II. |Regulates body temperature, thirst, hunger
C. |Amyvgdala III. |Forms long -term declarative memories

D. | Cingulate cortex IV. | Slective attention, working memory

Choose the correct answer from the options given below:

1. A-IIT, B-1IV, C-1, D-II
2. A-Il, B-1, C-III, D-1IV
3. A1l B-IIL, C-1, D-1IV

4. A-1, B-III, C-IV, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212312348 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

150/179



8/31/24, 10:35 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

AT 1S 1Y &I 11 DT e Hifoy

A [eEUNdEY 1 |va wfafsa ok va ot |
B. |fEmiemy 1L (3R &1 aaH, T, 4@ Fofa s e
c. [vafEmeEs cftprsran | nL [Seers gvones wiaat
D. (e dieam V. [F9ATES G, i Hia

" 16U U 9 edl # U I8t 3R &1 999 BIIT;

1. A-IIT, B-1IV, C-1, D-II

[

. A-II, B-I, C-III, D-IV
3. A-IL, B-IIL C-1, D-IV

4. A-1, B-III, C-IV, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212312349 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
A | Gestalt Therapy I. | Five universal human needs
B. |Reality Therapy II. | You are the architect of vour life
C. | Existentialism III. | Empty chair technique
D. | Solution-focused Therapy | IV, | Steve de Shazer and Insoo Kim Berg

Choose the correct answer from the options given below:

1. A-IT, B-1, C-IV, D-III

2

. A-1, B-II, C-III, D-1IV
3. A-IV, B-I, C-II, D-ITII

4. A-IIT, B-1, C-II, D-IV
Options :
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1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212312349 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e ERINE eIl CAIERIEEIELY

T I T 11
TeeTee Ao 1 |9 9dyif® AFdig agdmdnd

gRAaiadd] el 11 |3 30 oilgs & Hafars

g AREfaH L. | @l pf deb-iich
T hi-5d fafe | 1V, [©19 2 IoR 3R g g &

A f6u U A edl § U Jot IR 1 I999 HIIU;

1. A-II, B-1, C-IV, D-III

olo|w|»

B

.A-L, B-II, C-1II, D-IV
3. A-IV, B-1, C-II, D-III

4. A-III, B-1, C-II, D-1IV
Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212312350 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTI
A  |Non-maleficence| I |Response to stress
B. |HPA Axis II. | Encountering paradoxes of life
C. | Art Therapy III. | Counselling ethics
D. |Existentializm IV. | Intervention for emotional release

Choose the correct answer from the options given below:

1. A-IL, B-III, C-1, D-IV

b2

. A-IV, B-II, C-IIL D-I
3. A-IIL, B-I, C-II, D-IV

4. A, B-1, C-IV, D-II
Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212312350 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1P 1Y AT 11 D1 I Pifore

gl 1 T I
TR - sifgaax I |qma &t wiafdan
11 [oiia & [Ty &1 91 ol
wal fafd 1. |REE Afdddr

o SRmIEH | Iv. |HIaTdHS Hid & foiU S&aU (3-2Xd9M)
I fu U A egl § U gt 3 &1 99 DI

1. A-IL, B-III, C-1, D-IV

olo|w|=
4
<h
o=
&
£p

[

. A-IV, B-II, C-IIL, D-1
3. A-IIL B-1, C-IL, D-IV

4. A-II1, B-1, C-1IV, D-II
Options :
1.1
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3.3
4.4
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Question Number : 131 Question Id : 34212312351 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

Realistic

LISTI LISTII
) Comparative assessment of facilitating and restraining forces in the
A | Entropy L i
efvironment
B |Decay Curve I1. | A sudden downward drop in the curve of health behaviour
Force field Analysis I | Ginzberg's theory of career development
D. Fointacy, Fontave. IV. | A gradual progressive decline in the health behaviour curve

Choose the correct answer from the options given below:

1. A-II, B-IV, C-1, D-IIT
2. A-IV, B-III, C-1I, D-1
3. A-III, B-1I, C-1, D-IV

4. A-I, B-III, C-IV, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212312351 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

g28.digialm.com/CAE/viewHtmIPDFAction.action

T 1 T 11
A [T L |ygiaRur § WgEe 3R e Widkdl &1 Jei-idd Hedid-
B |sfaH dh 11 |5 SdsR 9 H 3EF® -1d @] 3R fR1ae
C. |=fda & e | o s [dery sl
D. |®Tcai-m, 3T guriaE! | IV, [¥ared s9aeR a@ | WiiaRid FREe
I f6U U fdshedl H U IgT 3R &I 994 HIIU;

1. A-IL, B-IV, C-1, D-ITT

2. A-IV, B-III, C-II, D-1

3. A-IIL B-IL C-I, D-IV

4. A-1, B-11I, C-1V, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212312352 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
A  |Phenomenology | I |Indepth detailed examination of an entity in real world context
B. | Case study II. | Application of inductive-reasoning
C. | Ethnographv III. |Lived experiences
D. | Grounded theorv | IV | Description of peoples and culture

Choose the correct answer from the options given below:

1. AIIL BIL C-L D-IV

2

3. A-IIT, B-1, C-1V, D-I1

4. A-1, B-III, C-IV, D-II

Options :
1.1

. A-TL B-1, C-III, D-IV

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

155/179



8/31/24, 10:35 PM g28.digialm.com/CAE/viewHtmIPDFAction.action
2.2
3.3
4.4

Question Number : 132 Question Id : 34212312352 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Gt 1P 1Y Gt 11 D1 I Pifore

= T I
A |GES (Tl e fagm)| 1 |orafd® g & 9 | W 5o @1 e fasga @i
B. |9THal &1 3T 11 |FEAIEE ddb B LT
C. |Jd=ias 1L [Sfifad sgya
D. [U3ss fagid IV, [T SR Tepia &1 o
A1 feu U fad el § U T8t IR B 99 HIIT;

1. AL B-II, C-I, D-IV

]

. A-11, B-1, CIII, D-IV
3. A-IIT, B-1, C-1V, D-I1

4. A-I, B-1II, C-1IV, D-II
Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212312353 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

LISTI LISTIT
A. | Tay-Sach disorder I | The 23 pair is actually missing an X
B. |Down's syndrome II. |Fatal neurological disorder
C. |Klinefelter's syndrome | III. | An extra chromosome in what normally be the 21% pair
D. | Tumer's syndrome IV. |the 23 set of sex chromosomes is XXY

Choose the correct answer from the options given below:

1. A-IIT, B-IV, C-II, D-1

| ]

. A-II, B-III, C-IV, D-1

3. A-IV, B-1, C-1I1, D-II

4. A-1, B-1II, C-II, D-1IV
Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212312353 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Gt 1% 1Y YT 11 B1 e Hifoe

T 1

g I

A |T-THSache) TPR | I |3IFeHaeduH@ X0 &

B. (s34 f¥siH 1. (9T diad Je fger

C. |wgabee figm | L [9EFE: 21 4 9e H U sffalved o
D. [eRfigm Iv. |fHT T0RgA &1 23 a1 YT XXY &

A f6u U A edl § 4 I8t IR 1 I994 BIIU;

1. A-III, B-1V, C-I1, D-I
2. A-II. B-IIIL, C-IV, D-1
3. A-IV, B-I. C-III, D-II

4. A-I. B-III, C-II, D-IV
Options :
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1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212312354 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

LISTI LISTII
A |Dukha I | Suffering is part of life
B. |Dukha-Samudaya IT. | Suffering has an end
C. |Dukha- Nirodha II1. | Suffering has a cause
D. |Dukha-nirodha marga | IV. | There is a way to end suffering

Choose the correct answer from the options given below:

1. A-1, B-II, C-IV, D-III

2. A-11, B-1, CIII, D-IV

3. AN, B-1, C-II, D-IV

4. A-1, B-1II, C-II, D-IV
Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212312354 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

AT e 11
T L g oilad &l g1 g
5 9El Il |g@ & Sd gl g
5 - Ry 11 |G &1 U BRY &ldl [edl
& - Ry -anf | IV, |g:% & @& @3 &1 U6 I &

A 13U U f[d& el H 9 It 3R &1 9949 SIS

1. A-1, B-II, C-IV, D-III

olo|w|e

f-2

.A-T1, B-1, C-II1, D-1IV
3. AL B-1, C-I1, D-IV

4. A-1. B-1II, C-II, D-IV
Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212312355 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
A | Material form I |Vedana
B. |Feeling or sensation II. |Vinnana
C. |Perception I1I. |Rupa
D. |Reason or intelligence | TV | Sana

Choose the correct answer from the options given below:
1. A-IIT, B-1, C-IV, D-II
2. A-11, B-1, C-III, D-IV
3. AL B-1IV, CII, DI
4. A-IIT, B-I1, C-1, D-IV

Options :
1.1
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2.2
3.3
4.4

Question Number : 135 Question Id : 34212312355 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Gt 1P 1Y Gt 11 D1 I Pifore

T I T I
A |[grEfieiEy | L (4
B. |HgTTar agyfd | 1 [faw
C. |uRon 1L [¥U
D. |®RU A gigHT | V. |[F=

g28.digialm.com/CAE/viewHtmIPDFAction.action

- f6u U f[ddedl # U I8t 3R 1 999 HIU;

1. A-IIT, B-1, C-IV, D-II
2. A1, B-1, CIII, D-IV
3. A-I. B-IV, C-II. D-TTT

4. A-III, B-I1, C-I, D-IV
Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212312356 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII

Eros Love [. |Treating love as a game

Ludos Love | II. | Treating love as friendship

Storge Love | III. |Loving an ideal person

olo|w|

Agape Love | IV. | Selfless love

Choose the correct answer from the options given below:

1. A-IL, B-III, C-1, D-IV

b2

. A-I, B-11, C-IV, D-III

L

. A-IL B-L C-IL, D-IV

4. A-IV, B-1, C-1II, D-TI
Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212312356 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1D 1Y AT 11 D1 I Pifore

T 1 T 1

WHTAT | I [TIR G U Wd B die Gl
e ©d | 11 |WR &I ffad & w0 H e
Tloi 7d | I |Uh AW e § WR Bl
qmuaa | v, |Frard um

A fau U fadedl # U Igt 3R &1 99 DIfoIs:

1. A-IL, B-III, C-1, D-IV

ola|w|e

2. A-1, B-II, C-IV, D-II
3. AL, BI, C-IL D-IV

4. A-TV, B-1, C-III, D-II
Options :
1.1
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Question Number : 137 Question Id : 34212312357 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LIST1 LISTII
Premak L& : ; : s 2
A b [. | The rapid change in performance levl as the size of reinforcement is varied
principle
B Zeigarnik 1 Reinforcement strengthens the neighboring response in addition to the response
| effect " | that it produced
e lenpome | The opportunity to engage in a frv.equeml.}' .Dccurring activity can be used to
reinforce a less frequently occurring activity
Spread of : :
D. effect IV | The tendency to remember incomplete tasks longer than complete ones

Choose the correct answer from the options given below:

1. A-IL, B-I, C-IV, D-III

2. A-1, B-II, C-II, D-IV

3. A-IV, B-III, C-1, D-IT

4. A-III, B-1V, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212312357 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

il T
e ‘-i‘@m I |qedioRu ¥ JIeR 3 uRad 2 W e &R 3 360 @ oRad
o FmHe | (vl ifdE T uffhat i srerar 99 wifar of o gl & S g a9
LG B EREE

C. FEftuyE | I

TR-gR g arel Tfafafd § i 84 & /a9 &1 394F &4 IR gi- dial
Tfafafy @1 Yeg & & o foogn o &l g

HHId @]

IPR3IRS

D. IV.

quf fard 770 a1 DT ST e Bl Bl TS THY TP Ul G- &t uafd

A fau U fasedl # U It 3T &1 99 DIfoIs:

1. A-II, B-1, C-IV, D-III

t2

. A-I, B-III, C-II, D-IV

3. A-IV, B-III, C-1, D-II

4. A-IIT, B-1V, C-1, D-IT

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212312358 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII

Tendency to complete incomplete expeniences to make them more

A | Pnnciple of closure L meaningful

Learned matenal 1s most performed in the same direction in which 1t

B. |Prnciple of Polarity | 11 was-caiminallydearned

C. Principle of II1. | Choosing the simpler one out of the two equally effecive theories

Parsimony
D Principle of v In order for a theory to be scientific 1t must make risky prediction if not
© | falsification * | confirmed, would refute the theorv

Choose the correct answer from the options given below:
1. A-I, B-II, C-III, D-IV
2. A-II, B-1, C-IV, D-III
3. A-IIL, B-1, C-II, D-IV

4. A-II, B-1II, C-1, D-1V

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212312358 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

T 1 T I
A Eﬁ‘iﬁ D1t L |38 SFHal &1 O B SHfdd Wil a9 DI Uafd
. il 12 el &1, Ted S 9l foun # Hufed fear arare fog
B. |gad ot R | 1L o= o 34 o & 4 Rrar @ of
&, maaqf&“@ﬁw I |G 99 ®9 ¥ JHE! [sial § 9 WRa g o 931
o [FEmERmEr | | Rieid & e g & g 3 Sifmyyl gatgas o el Al
- s © [SuT gfE =6l gian &, df Fsia &1 @sH 8l STl
i feu U fadh el § 9 I8! STk &I I8 DIIT;

1. AL B-IL C-IIL, D-IV

t2

. A-IL, B-1, C-IV, D-III

3. AJIL B-I, C-II, D-IV

4. A-1I, B-III, C-1, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212312359 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
A | Standard scores always has a mean of 30 and 5D of 10 I. |Percentile
B. | Standard scores change the unit of measurement II. |Z - Score
C. |Standard with a mean of zero and SD of 1 III. | T score
D. Units in testing that help to evaluate a person's performance in comparison with v Standard
others who took the same test sCore

Choose the correct answer from the options given below:
1. A-II1, B-IIL, C-1, D-IV
2. A-IL B-1II. C-1, D-IV
3. A-IIL B-I C-IL. D-IV

4. A-IV, B-111, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212312359 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

T I T I
A |AF® @R &1 H1g gHE 50 IR A Aaad 10 8idl 8 L |ufgedarn
B. [AH® R AU &1 3®Is daad o 1L |z-R
C. |3 3R 1 A fGaed o AF® L |T-%R
D [T H SwT i U oafad & YeRH @1 edied I A e s ann | o [AE®
@@ e HAcs e & " [=@R

i feT 7T fahed! # U AH! IR B 9G DI
1. A-IIT, B-IL C-I, D-IV
2. A1, B-1I1, C-1, D-IV
3. A-IIL, B-L, C-II, D-IV

4. A-IV, B-111, C-I, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212312360 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

LISTI LISTII

A | Synthetic skall I. |Decisions about how to deploy the skills available to a person

8 |assrse I Tc:_v see problems with new points of view and get rnid of conventional
- thinking

C. f;iaﬁncal contei] II1. | To recognize which ideas are worth pursuing and which are not

D. | Thinking styles IV, | To know how to persuade others regarding one's ideas

Choose the correct answer from the options given below:

1. A-IL, B-1V, C-1IL, D-I

b2

. A-II, B-III, C-IV, D-I

3. A-1, B-1I, C-1V, D-III

4. A-IV. B-11I, C-1, D-1I

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212312360 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

AT

[ O

A |fHdfes o L |3efy

Tl aafdd & T Judied] SIEId &1 SUdN &y [l WY, 39 R

B. |[G9cNUTHES BIRa | 1 [GHE1S! AU PRI E ¢ AR URURS € H gEaRI UM

C. ﬁmﬂﬂa X AR 1L |78 UggHAl f ®F ¥ fd9R 31 98 0@ & 3R &H U T8

D. (g 31 2t V. |

g S @ 7T fob 2110 gl o 30 faaRi & 9k H S8 wHed

1< ST U [qhedl § 9§ W1 IR &1 99 DI
1. A-IL B-IV, C-IIL D-I
2. A-II, B-IIL, C-IV, D-I
3. A-I, B-1IL, C-IV, D-III

4. A-IV, B-11I. C-1, D-II
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 342123484

Question Shuffling Allowed : No

Question Id : 34212312361 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (141 to 145)
Question Label : Comprehension

The researchers assumed that older adults are different from vounger adults in their suicidal
ideation and in their reasons for thinking about committing suicide because of differences in life
experiences and coping competence. Hence, they used cross sectional research and recruited 150
older adults (60-95 years) who were matched with 150 vounger adult (17-34 vears) on gender
ethnicity, religion and self reported health status. Beck’s scale for suicidal ideation was used to
measure suicidal ideation. They used °t’ test for comparison of variables and found no significant
difference. According to Siegler, neither cross sectional nor longitudinal study provide much
information about how those changes occur over time. He discussed a method that involves
carefully observing behavior during periods when rapid change is occurring and collecting both

quantitative and qualitative information.

Sub questions
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Question Number : 141 Question Id : 34212312362 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A potential problem with cross sectional research is that there may be other variables that are
confounded with age. This problem is called

. Habitat effect

f2

. Cohort effect

4

. Interrupted effcect

4. Protective effect

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212312363 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The combination of cross sectional and longitudinal research is called

. Time series research

t2

. Correlational research

L

. Sequential research

4. Thematic research
Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212312364 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is the df for the *t" test used here

I 297

[

296

4. 298
Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212312365 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the method Siegler discussed for studying the process of change?

1. Macrogenetic method

f-2

. Exogenetic method
3. Chromogenetic method

4. Micro genetic method

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212312366 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When null hypothesis is false and we are accepting it then we make

1. Type I error

f-2

. Type II error
3. Error of falsifiability

4. Acceptance error
Options :
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1.1
2.2
3.3
4.4

Question Id : 34212312361 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

oS Mybdisi 1 a8 A o1 & 9o %D, Mg & [d9R 3R A & §R H Fi
& SR H ga1 3g%h| Y 4 8id €. Fifch Sita- & 3Fyal IR IH-1 6 DI &Hd H 3R
BIdl §1 3UCT I5iH IR BT (1Y ) Y BT JWNT fobar 3R 150 Jog TUD
(60-95 TNT) B! AMHS fobar, ST e, Srdigdr, 4H 2R g gRI 9dis 715 Wy [&fd &
IR UR 150 AT 9G] (17-34 a8 F1Y fArel har 7T | 3i1ardrdl [dar & fdu d (Beck)
& UHM BT IUGNT AT Hid Dl A0 & ferd [ha1 /1 41 | 351 9l @Rl &1 ga1 & fau
&1 — G101 D1 ST fhdT 3R Dl Hedyol 3idv g1 Url | YHTeR (Siegler) b SHTUR T dl
SHURY BIe 3R 9 gl 3ce] 3o 39 9R § $fi¥d IEHRI <d ¢ & 99g & wiy d
gRadd &Y gid &1 3l U Ul (314 0R gaf &1 598 9Ed® 3R quidd GiHI UhR &l
SMBRI &1 GaHIYdD Sfgaidh 3R G M g |

Sub questions

Question Number : 141 Question Id : 34212312362 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U B (1Y Ya=RHd) 2 D 1Y U YUTTdd TR Ig ¢ T 39 37 TR i 8 Gbd
¢ Sl 39 & Ty YW g1 Udhd © | 39 YW &l del oldl o

1. Bf¥CT (Habitat) YHTE

2. &ilaié (Cohort) HHId
3. 19T UHTd

4. QRETHD YU

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212312363 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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U DIE 3R e ST & Yo B dhel Sdl ©
. 9HYT gl TR
R E R R BN EIE
IS TD FTTRH
4. fawaeTd ST~
Options :
1.1
2.2

3.3
4.4

—

f-2

L

Question Number : 143 Question Id : 34212312364 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UgT W &1 - UdieuT & o ST U (df) 1

1. 297

[

. 296
3.294

4. 298

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212312365 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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URad= P Uihdl BT AT B o foU YITeR (Siegler) 1 [ Ugld & 7l DI 2
1. HeploiHTed fafd

TEoHeS fafy
3. PHSHICD (A
4, ATSHISHICH [l

Options :
1.1
2.2
3.3
4.4

f-2

Question Number : 145 Question Id : 34212312366 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o9 I (null) TREG AT TTed Bl 8§ 3R 80 34 WIHR HR dd ¢ dl g0 I d I 8l §I1di ©:
1.esu -1
2. TR0 - I Ffe

3. Wipd Ife
4. fHTRvigar Ffe

Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 3
Sub-Section Id : 342123485
Question Shuffling Allowed : No

Question Id : 34212312367 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Motivation is the driving force behind human activities. Researchers identified three components
of motivation. Motivation originates externally or internally, are defined by action or non-action
and can be categorized as extrinsic, identified, intrinsic, or introjected. One of the causes of flow
motivation is ““just because an approach or method worked for someone else does not mean that it
will work for you”. Self-determination theory is built on the idea that people are actively
motivated to persue their goals.

Sub questions

Question Number : 146 Question Id : 34212312368 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What are the three components of motivation ?

1. Need. Persistence, Goal

t2

. Activation, persistence and intensity
3. Intensity, identification, Drive

4. Activation, intensity and goal

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212312369 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What are the components of intrinsic motivation?

1. Autonomy, Competence, Tendency

t2

. Competence, Mastery, Purpose
3. Mastery, Tendency, Competence

4. Autonomy, Mastery and Purpose

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212312370 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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“Just because an approach or method worked for someone else does not mean that it will work
for you” refers to

l. one size fits all

2

. Absurd function approach
3. there is no common approach for all

4. the approach will work for me

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212312371 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Introjected motivation is

1. A negative internalized motivation

]

. A positive externalized motivation
3. A negative externalized motivation

4. A positive internalized motivation

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212312372 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Self determination theory is developed by:

1. Shelley E Taylor

[

. Deci and Ryan

. Barbara Frederick

P8

4. Seligman and Lubomirsky
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Options :
1.1
2.2
3.3
4.4

Question Id : 34212312367 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

URUN {4 iafafedl & Ui RS fdd g1 Myddisdf 4 U & diH gl & UgdH Bl
TR &Te] 41 TR U U Idd gldl o, [ha1 a1 3iiehan gR1 URHING gidl ¢ dy1 39 el
TgdId, 3MdRe a1 Sid:uaiud & =0 d atiiepd a1 ST Ydhdl g1 HH IR0 &I Udh RO I
¢ & -1t 3ufe i ue =fPivr a1 fafy faddl 3iR & foi $H xdl 8, 39&1 Adad g ol
¢ & Ug 3Mmudh fau Wt o Sl | sraEu i 39 f[9aR W enyikd € & @i 31ud
A&l &l U B o 100 Yichd U Y URd gld ©

Sub questions

Question Number : 146 Question Id : 34212312368 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IRUN & diF 9edh a1 g 2
L. TSI, 3feddl, ded
2. Tichydr, 3eddl 3R digar

3. Qlddl, Ugdr, i

4. Gichadr, digar 3R de

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212312369 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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IR U0 & Ueh | g 2
1. TG, G, Haf
2. TIYI, HERd. 3539
3. HERA, Ug, Frad
4. WO, HERd 3R 35

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212312370 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R 3YfeTT b T <P 101 41 fafe) fodl 3IR & 7T 1 Xl 8, 3UD] Addd I8 el 6 1h
g 39 fau Wi srd Sl Ualdd &di ©

1. I8 e[l b T g1 3R 94l & [T Iugdd gl
2. @] HA TPDI

3. 8 T o 9 & e gam efper g 8

4. 98 U= foh g a¥iT TR fall SRR g

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212312371 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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UPh YHRIAD d1g] U7

—

f-2

.U AHRIAD a1l U7

L

4. Uh YHRIHD dlgl U7

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212312372 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AU [l fhad gRI [adhRid fdhar 7T g2

1. Qcl s, eeR
2. 4T 3R WH
3. IR hSRd
4. GIHTHHA 3R qdIfERD!

Options :

1.1

2.2

3.3
4.4
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